Y-S T

Fe — JRSIITEN:
3qfe. — 3 =oe 15 fiFe (FuTE BRT=IH) qulieT: — 80
1 SEADISIEECERIN
F4 | WY fPIR: BINKRE]
1. | 9] 23 28.75
2. | eraqrn 26 32.50
3. | srfafa: 27 33.75
4 | Aiferepar 04 05.00
RIRE 80 100
2 U YHRITARY FHHR: —
@, | U Ul | GfUeT | geTidl: | ST eI RS IERE
4. | YR T | ST gfereraq gferera T
1. | o 1/5 1 15 18.75 29.41 15
2 | RaarerHq 17 1 07 08.75 13.73 15
3. | sffcrergeRiA® | 1/10 1 10 12.50 19.61 25
4. | CTHTRIH®: 12,/12 2 24 30.00 23-53 60
BEEE 4/4 3 12 15.00 07.84 40
6. | faencis: 3/3 4 12 15.00 05-88 40
arT: 22 /51 80 100 100 195
3. Y™ 3R —
4. JAPIR: | Ufereraq
1| A (FgeiveET ) 50 62.50
2 | TRTERIER: 30 37.50
80 100%




Y- Ay (& 1?-—6)

T — IR IUTETY: fayg —eHemsH quiehT: — 80
. Seeq fae: / Sufee: T SR AT / Sifieafe: Pieret / Aferepar T

AT (Tgeiu=HT 11(1) | 7(1) 5(1) | 14(7) 9(3) 4(1) | 50(14)
ST

RG—IqT, TRIFOH,
gfeurg Jee , &

iE |

TR : 5(-) 4(-) 3(1) 10 8(2) 30(8)
gERRITef:, JUTET, (5)
SENIRS IS T
frfoTeTe, i

Tl fadaH |

5(-) A(-) 5(1) | 14(7) | 3(1) 10 9(3) | 8(2) 4(1) |80(22)
AT 11(1) | 7(2) (5)

RCRIRE 23(2) 26(9) 27(10) 8(1) 80(22)

fe@ea—Aor T — U9, 16 @ 22 Uy (S IfdRSGAde: IR | JTETH— PIOHIG d8: HEAT ABABT JARGEET T YA |

TEIERY




No of Question :- 22

No of Printing pages :-

RS UEIRI—TET, 2024
TR, HIe—89

T4 : 315 BRI
Wenfha: gm=afee:

1. TN AU Wausu=uR HieT: AfHaRia: o |
2. 9q g ifFart: |
3 I TFAMRORIRRRIGRAGIMAT ARG |
E Yy JATIRGANTE: A, T Td W THS (G oG-I |
TET: RGAARIAT ST |

qUTIhT : 80



Aisel UIA (3MSeUeAU=A)
IRSIUTII—TR0ET, 2024

RN, DIS—89
|AY : 315 BT
grs: -3
1. IEJISUTL—
(i) f&<T: a1 8 99 ?
(31) wgerTgy (@) ey
(&) merrgy (=) gy
(i) wr=eiroget b 7
(&) gEm (@) 3™
(&) SR (=) &7
(iii) T=m: wfd |f?
(31) w=r (@) 9
(%) =< (=) o
(iv) srfausfad &= Afadiq ?
(1) H=4T (@) qr=r
QEZE (&) 4
(v) diviHragS: wafa?
C)RERIRIEY (@) =y
(@) fFemam aRey () IereTueTer
(vi) TR B waf~d ?
(31) fdwrfer: (@) Tpfderfe:
(%) weprew (2) sreere=
(vii) sEFTRaT Hafa—
(@) IH—THET I (@) I—uf¥eEr am:
(&) fS—wea A (2) ~parea

qUIihT : 80



(viii) S2TerTHT wafa—

(31) a9 (d) eaor:
(w) faw: () T
(ix) STTaTRIT & &P 1
(®) T=H (@) R
(%) T () feom
(x) ol o &fa— 1
(a1) Fem™ (@) =
(¥) TRRA () P
(xi) Tt 3= Arerfo— 1
(87) o (@) 4
(@) o= () er=A
(xii ) JATRTRT o: T fhoel epfgfossa? 1
(31) sEAIHaRERMA () uoTaErRM
() TRATHAETRH (3) ArPARIRA
(xiii ) TaH: B IR JOIT?
CIELINERS @) =
() IRt (@) I5
(xiv) STRIHCIGIT: RgD: &:?
(@7) eace: (9) weprer:
() srRIfee: (%) Mfd=axToT:
(xv) "SE¥RT SO oRgd: &7
CIRSILEEIES] (&) creHTeR:

(%) TTRee: (%) TG



(i-) TRIHD e gad g9 |

(i) STEH H&F o JE AR |
(i) I F BGRT o geHSE |

(iv) STATETRT IO BT oo gRasiaq |
(v) FIATOTEANS A autfor Sfafd |
(vi) e OO GIRIRUM |
(vii) ITafT IYREATOL.......cc.c. ST |

(ix) Bia ATsM™T: ?

(x) faggrfe: wfa femfcaeT waf?

TTRIHAD T
4. eI forgq ?
5. qeaglf: i famfcaeT waf?

6. dGR®Y: Hal 7 HA ?

7. ATGARIIE: DaT HRof: ?
8. ILUTATOT Yfg: Hef wafd ?
9. AN WA I+ ?
10. &g T A fored |

gvs: — “g”



11. HRAT I IAq 7
12. IYTBI TR bl Fafd ?

13. RTINS oigPh: B 7

14. RIERE ol e ?

15. GEGTAL: dAeTv] fbe ?

grs— g
T yET—
16. faareT: &: A T HROMAT: ?
3rerat
RS A forad |
17. ASMEARYY &b Herq ? fad=gd |
3rerat
SEHAATROT: b &R Y7
18. HTIHAN forad |
3rerat
FeeEr @ & wald?
19. HIAIAILRY AR o |
3feraT
Il i Bl Jafa?  faded |
gug— g
IRCECINCatES IR
20. AIEIA: IGATRR fqvgeaRg faa=aq |
3feraT

TSI SRR HRIE o |

21. gH eT07 forad |
TaT

319
TR AR ford |
22. faeTorgfdr Thdfapa olefvf FfaRay Juiid |

aferar
DI =N T [iaden=? fad=d |



e —  IREOUTEIT:
Jvg: — @ﬂ?@'ﬁ":{
i — 3 goe 15 e (AUTe BRT=UH) qulieT: — 80
1. SEADISIEECERIN
HE | SeedH HIR: yfererd
1. | S H 24 30.00 %
P EEEESE 24 30.00 %
3. | SFIART: / TfHefdd: 14 17.50 %
4. | DT /Hifeddr 18 2250 %
AT 80 100 %
2 U YHRITARY HHHR: —
. | T YBRT: YT | SfaUe— | Bofidn: | 3T EESI] FrTfa:
. WT HDT: YIdRIdH YIdRIdH T
1. | aegfrs—ueT 1/15 1 15 18.75 29.41 30
o | Raa=erm=ysr: 1/07 1 07 08.25 13.73 15
3. | AfcergRRIeHd—yer: | 1/10 1 10 12.50 19.61 30
4, | THNTHG—UEAT: 12 /12 2 24 30.00 23.53 40
5. | drafcag—ueE: 4/4 3 12 15.00 07.84 40
6. | MaETHG—TeAT 3/3 4 12 15.00 05.88 40
RIRE 22 /51 80 100.00 195fR,
3. 7 3R —
.9 fawref JIPHR: | TicTeraq
1 YHIUT—HTHTI—UDIRT:, UIEYDIA: 40 50.00
2 URIETY DI 40 50.00
80 100%

Y-S T




Y- Ay, (g =)
e —

DHET —  IRSIUAR: : SEESEL 80

Sl faeT: / SufaR Bt TR ARITANT: / et Prerer] / Mferdrar T

AR R I RN
& & &

UHTOT—HTHATI—YDIRE, | 4(1) | 2(1) | 2(1) | 4(2) 4(-) | 2(-) | 2() |42 |[3(2) 2(-) | 4(2) | 3(1) 4(1) | 40(12)
PRIEIPCANE

URIETY DI a(-) | 2() |2(-) |4(2) 3() [ 1() | 1() | 4(2) 1(-) | 4(2) 6(2) | 8(2) |40(10)
T 8(1) | 4(1) | 4(1) | 8(4) 7(-) 13(-) |3(-) |8(4) |3(2) 3(-) | 8(4) | 3(1) 6(2) | 12(3) | 80(22)
HAANT: 24(7) 24(5) 14(5) 18(5) 80(22)

fea—AerT — 16 @ 22 YTy (& SNidRedbed: 31k |

AT — HIBHI dfe: AT JHAMDT AARGEET T YA |




No of Question :- 22

No of Printing pages :-

TR IUEIRITET, 2024
SFIGETY, Pre—52

9T : 3:15 ¢

Wenfeha:  gmafage:

1. eI HdyeH WUEYANR ATIGT: SAfFaRid: o |
2. 94 YT Afawt: |
3. WY YRRy RABTIMEG oG- T |

4. Y YEY ARIRGHR: AT, T G 9N THS U9 G |
5. Td YT GRGTARTHT S_uiT: |



Aisel UIA (3MSIUeAU=A)
IRSIUTA™I—uQeT, 2024

IHIGEY, Ple—52

9T : 3:15 ¢UC

gus: -3
1. IITSYTI—
(i) FRUSRreRT &q: "M fbq ?
(31) srremd Al (@) TRTaeHyoTIf:
() Smem JoguTe: (]) oMl Had<:
(i) TATOTRIRTERT.” R Uy AR ?
(87) el () —amREH
(%) PR (%) R
(ili) TgegrarmurgUfds g fbyq ?
(&) ST () ST
(%) T (%) SreATeT
(iv) w7 fohe ?
SORERIEIEG (9) wrrTeT
(W) FaeremT (%) smTeTT
(v) <erar faere FIgw uder ?
(87) rRHTRIH (@) sreaeTRa
(%) |icgasTReH (@) srurHETHH
(vi) "gersd gou:" gfd Sarery fded—
SHCERE @) =@
(%) sar: (%) =m=om
(vii) "aerEr & ForgfaRiE e BT T7er Sad ?
(31) TRleTR (@) ISR
GIRUSEUGERIS) (3) THIRHAHITS




(@1) gAY (@) gger

() <terory (@) W

(ix) “3Te"] g Hasl Afdqasa’” HUq?
SIREESIG! CIRECIECIN
SISEEISIN CRiCRIN
X) “ IATH QI " B ISERUHERT ?
(1) = @) =TT
(w) == () SrgATT*a

(XI) TireetRas fbd ?

(&) s ORSIERE!

(|) ot () wmeTHq

(XII) =grieTsT= foe 2

@) sravre: @) wfa

(%) ararar () T

XIN) TragafAuTauRg feq ?

(e1) T (&) AT

(%) reror (%) wreH

(XIV) 3rgAT pfcfdes?

SUREICEE] CIREIER

(@) =rfeer (3) fefaer

(XV) RIS AT s aq fhe?
(87) SrgATH ) IRTITATT



(vi) I A W dq fbe ?

(vii) afecrepRT YRTIdawfayar &1 ?
(viii) TiR=arEgTIufcs fhq ?
(ix) graETRRTd |~y gda: "sfd Hg gfer g ?

(x) eI EIRUR e aae fhq ?

grs: — ‘9"

4. BT UNIETT ?
5 % HI: °
6. fPAS THRY Yo =19 ?

7. T gycgerH ?



8. T =T I ?

9. fb Hrgugery ?

10. PISATE: ?

11. WRITGH] Hidfae @ foraa ?
12. T Hfd: ?

13. & ddb: ?

14. gffor: ufafs: ®ef vafa ?

15. TRITGATRY A0 HIf ?

gus— "9q"
et gee—
16. BRI H fddeH Hod |
(@) FTATERURT YAToT |

(@) HTATIRORT Hraref: |

17. FRTAHR WHY f[Ada- a9 |

(@) SHREG Teeev fafors 6 M fawreMai faerdesd |
(@) TRATRISHIeTeT URd dgHar Ufiuread |

18. HTITAHR WHY JUIFRIH |

(@) wrafgAE fefafa e |

(@) NSTAHART FAOT JUIT SHTRAHIRY Sgeervl IRdIde |

19. FHFRCHRI XY qUHRIH |

(@) fafSrigerern
(@) dIaRTTHAT
gus— g
reeereTgeT—
20. TATRIBIHATR AFTHYR] JILATO B 7 FHEIAMANT FIhIdm |

rerar
TIATHIURY HeTe fafered dul fad= §od |
21, WRIAAF Wwy faferg e fad=ad |
SIDE])
ARIARA: Wwy fdd=ad |
22. WETVHIVRY 3wy faferesg e fad=ad |

STRdT
TATRIRHT UreRe ey foetad |




Y-S T

Fem —  ANSSIITEATY:

o —
g — 3 gue 15 e (|UT 7) qUIiehT: — 80
1. G%??II q ITHHN: —
% . SECRRL| JHR: gfereray
L 15 18.75 %
2. | ofadR: 22 27.50 %
3. | SFMYANT: / JAfvefad: 26 32.50 %
4. W\/W 17 21.25 %
ANT: 80 100 %
2, U YHRITARY HHHR: —
. | AT YhRT: ge | uferoeEE | et SEIIED]
el T | P AT — A
wfereTe
1. | axgfrs—ye: 1/15 1 15 | 1875 % | 2941 % | 30
2 | RacRem=—yer: 1,07 1 07 08.75 13.72 14
3 | ST RIS | 1,/10 1 10 12.50 19.60 20
4 | THTRIH—TT: 12 /12 2 24 | 3000 % | 2352 % | 48
5 | STERNT gEAT: 4/4 3 12 15.00 % | 07.84 % | 40
6 | FRaeTcHEH—TeT: 3/3 4 12 | 1500 % | 0588 % | 43
IIT: 22 /51 80 100.00 195
3. favae T SfhvR: — -
4. [ELRESS G JAPIR: | Ufereraq
T | TP (THETS)
1| JHIUTH, HRUTH, HIOTH, Fl-~Thy: 12 15.00
2 | ITATTH, I, BT 12 15.00
3 | SUHTH, IPAMRT, IJAHIG: 10 12.50
4 AMHIVAT G, Xdd: UTHIVYY, URAUTHIVIH 06 07.0
G | IRINGT Johracil (JeAETs:)
1 | geTAfd9mT: 10 12.50
2 | T AERRIAERIMBUE, G-y 12 15.00
3 | PRURGRURITY, 392 Rig:, STfTauom 10, 12.50
4 | guETIE:, clifbedf~Tey: 08 10.00
80 100




Y- ey (g i)

DHEl —  qNOIUTEAT: fqr— e QUi — 80
SevafoHT: / SufaH: T e AT / et Plere / Aferdan o
AN AN NN RN D
= = = =
SERIEINESEICESH)
THTOT, HIROTH, BRUT, 3(1) |2(1) [ 1(1) | 6(3) 12(6)
Jf s
AT, SUTE:, AT 3(-) | 1(-) |2(-) |86(3) 12(3)
YA, JAATART:, IHTa: 1(-) 2(-) 1(-) 6(2} 10(2)
TG, Jad: ST, 3(1) 3(1) 6(2)
ORA: TG
ARG Fehlael (IAEvs:)
EEIRICEIN 2(-) 3() | 2() 3(-) 10(-)
T AR, 3(-) 2(-) 6(3) 1(-) 12(3)
TR
HNURGHITR/YUTH, 4(1) 6(3) 10(4)
I=gAT Fg:, SMcHTHYUH
TS, 4(1) 4(1) | 8(2)
SAlfhaHA~THY:
3(1) | 2(1) [ 1(1) | 9(3) 5() | 2(-) [2(-) |6() |3(1) [4(2) | 7(-) | 2() |1() |6(3)|6(2) |4(1) 1(-) | 3(-) [ 6(3) |3(1) | 4(1) |80(22)
15(6) 22(5) 26(6) 17(5) 80(22)
fe—AerT  — 16T 22 YUY U@ SNdRGAbed: iR | T HIOHIg die: T&T JHAMBT FARGEET d YT |




No of Question :- 22

No of Printing pages :-

IR UTITI—ueT, 2024

RIS, HIS—49
THY : 3115 BT QUIiehT : 80

Wenfehg: gmafacem:

1. TETRIFT: Tdgerd WyTIER AMieT: SifFaRid: oI |

2. 4 JEAT: AFATT: |

3. A9 YA CRITGRRRABIINT oG- |

4. Y YAY ATARGANTE: A, T T AN TS T AT |
5. d JTT: EXRAARTAT SRV |



Aisel Y Ud (ATSLUTTUFH)

IR urITT—aeT, 2024

IRIGYTY, Hle—49
HAAG— 315 BIRT: JUITghT— 80
Gre—3’
(i) ?&11?133%1@1 wﬁFﬂ P: ?
(37) wive: (@) T
(%) TpR: (3) wdtsfer
(i) THIITAR gAONA BT 2
(37) =for (@) =R
(&) o= @ &
(iii) "THTHROM ... | Sfq B Aefory ?
(31) TmeT™ (&) g\TAT
(@) T (|) &Y
(iv) wamefuRmelt 3ftr Wegd oy ?
(1) IMTdTRE (@) T
(@) mHE (]) gTer
(V) TepHTEITERYT BT o 2
(1) e CRSIEEREL
(@) sreniay (@) srafran
(vi) ‘g afegTAr %R @ fe 2
(@7) 3G (@) wfcra
(|) SarevH () Sua:

(vii) TeTeRg & FerorH?



(31) g (a) “Tarca

(%) srfaeracH () oI
(vii) faRmyueeRg ®fa Wt ?

(a1) & (@) 7@

() 3r=m: (3) PIsfu 4
(ix) ®oxfed el feaRa ?

(87) dore (@) g

(+) gferd () smmepret
(x) SrEeRiIHYeR fhg=ad ?

(31)SuTfe: (@) afoy

() STgadr: (]) efa
(xi) gfram: &fq waT: ?

(1) T (@) =

@) () &t
(xii) crorg—sfad feRa ?

(1) TegRf~=a (@) siafsam

() TaAftsam (3) @fi~saq
(xiii) TIHY IRR HATRT?

SEIRSIEY (@) TouTetia

(W) el (3) e
(xiv) AFTRIRY i WaT?

(31) v @) &

() = CIRCEIN
(xv) AT B Af<?

(o1) =9 (@) 9«



2. RepberIi g —

(i) IO Tooooe qHIT |

(ii) DR BT oo |

(DI E 1S A AHAATIBROA |
(V) e RIS TORIRITGATH |

V) R IMBIP: |

(Vi) ST, faory: aR@If: |

(Vii) T S h g |

3. ATATRIADITT: —

(i) 5 sor 2

(ii) e BRI ?

(i) BT = TreagEAT AR ?
(V) =T By T ?

(V) g i AT ?

(Vi) PR BRI ?

(Vi) THETORETE @: ?

(vili) STefrit R @ ?

(ix) s iR ?

(x) fb ucers ?

4. SRR b oteqor ?

5. gram: fawg: &: ?

gue: ()

L e e = - Y. U §



6. UceTsITe dffdel vafa ?
7. & =9 yar ?

8. vt gA fasfay ?

9. T b THUH ?
10. 3TH: g el wafd ?

11. S~saeg b ooy ?

12. FEIT TCUIEST &: AlADHY: ?
13. fb AW A=A ?

14, WY &b oAefor ?

15. ATH: e ?

gug— (1)
eI I T—
16. UTATOIATG AT fb Taqwmud ?
3T
THHTIITANYT RG] YUl f[dda $od |
17. ARYAOY T WHUH ? W |
T

I b TW@Huq ? e |

18. HRFCSHR WwY fdde- gy ?
() SUHTIHTIH | (W) TAETIHIOTH
19. AT fh THYA ? AT |

3ferdr
A b WHuH? eI |
@ue— (<)

IBCRC IR ES | R
20. AIRTA(TPY: Hel qafd?
31erdT



AT RIGT T2 HITATIRYT fae=d |
21. "I&YY TAISUEYUHTRH qorT |
UARY I TS HAOI 99 9 | |
PIRDYT TRN] ARSAT |

AT
STe: YTl 3 FHATI:

NIERSEE RTINS 3 31‘ oTfeh: | |

22. STl TRy e STefcsTfa: HeRd |
3rerar
fr: Tl gHear TREE AR |




Y-S T

e IO AT T:
favg —fr@eeE
3rafy — 3 gve 15 e (Jure ERmE=TH) quifedT: — 80
1, LTI APAR:  —
H. SECEOL| JIPHR: gfereray
1. | =] 34 42.50
2. | ogarE: 16 20.00
3. | SR / JAfefa: 18 22.50
4. | DT /Hifeddr 12 15.00
AT: 80 100%
2. Ul YORIJARH JAHIR: —
®. | YA YR | G | GIUSTHDL: | Gelibl: | AT AT AT —:
il SaEE yfoerdd | |
HfreTer
1. | 9 TS 1/15 1 15 18.75 29.41 20
2 | ReermrH 1/07 1 07 08.75 13.72 15
3 | SHeTeRIeTS: 1/10 1 10 12.50 19.60 35
4 | TTRIHD: 12/12 2 24 30.00 23.52 40
5 | STERRIY: 3/4 3 12 15 07.84 40
6. | FaeaTH®: 4/3 4 12 15.00 05.88 45
2. 22 /51 80 100 100 195
3. [ APIR: —
. [ELRERS G JHIR: | ufcrerdq
1. | deTageEdrs! 40 50%
2. | gdgaradd: 40 50%




Y- ey (g i)

hHeEll —IRSIrET: — T ae — 80
SeYafeHT: / SUfHT: Bt e TAT: / et Prorer / Aferaar T
= = = =

. | deTaITETa 9(1) 4(1) 12(6) 5(1) 6(2) 4(1) | 40(12)
. | gargafad®: 6(-) 3(-) 5(-) 12(6)] 6(2) 8(2) | 40(10)
A 150 | 70) 12(6) 10(1) 6(2) 12(6)| 6(2) 12(3) | 80(22)
— 80(22)

34(8) 16(3) 18(8) 12(3)

feaa—derT —  16d:22 Ty (o AidRafadmed: 1R |

IAETH— BIBHIG die: TET JHANDT FARGHET T YIS |




No of Question :- 22

No of Printing pages :-

IR U9 &T, 2024

@ cei T Pre—53
|HY : 3115 BIRT: qUTiehT : 80

ey A

1. GREATIfY: Hduer U= AT rfFaria: < |

2. g4 Y AfaE: |

3. A JETMTCRIVICRYRABITG G- |

4. AY Y AFARSART: A, T T 9T THA TG A@H4T: |
5. ¥4 YT RpaAegA SRIT: |



ASd Ued UF (SMMSRIITTIaH)
IR —aie—2024
@ e dre—53
HA: — 3115 BN qUIiS®HT -— 80

gre—"91"

1. SITSYT

() SdaTgaATART— 1
(1) TSR (@) deera
(@) Frarew (@) TSP

(i) eI R IR AT aad ? 1
(s7) wETCTw @) o=
(%) = (<) s=ToT

(iii) YRR Feiidhd : — 1
(31) SRIToTa: (@) =RdEm:
(%) TramERE (z) AfTes -

(iv) FATCRMERA: — 1
SIRSECIRI! (3) ST g
(%) wafe g (3) 5% g |

(v) TSR T aERRYI THE—YIeHRT— 1
(&) SragTTS (@) SeagwATsd
() TIHEHTS A (T) JTAIRAS A

(vi) faRregaRigr s add— 1
(37) TeTTIRIGTIY @) FreaTeawEE
(&) YHIISTHER—IA (]) Heaq=ISII

(vii) gTE=OTHST faw]: — 1
(37) ST AT 3/ @g (@) I | sraq

(%) g A 3rag () R 7 a7



(61) g @) g
(@) freareys (%) IR
(ix) ‘freme: Hr JaAR: ? 1
(a7) g (@) R
(@) A (2) orere
(x) e By A ?
(@1) 15 @) 18
(%) 20 () 25
(xi) FreaTepiemi To—
(&) %o (@) R=
(w) sg= (=) fora
(xii) P TRy SrefshRa—
@1 e ara: @) fra
(|0.) SNgrRRATD: (@) BT
(xiii) ST R TEdeR qaadeIedaR: add—
31) sheRamaqaran: @) SRR ITER:

() HREEIRaRIRUCArE: (@) SRTEITIRUCATAT:

(xiv) SO SR TERIGTISRa—

(@) srfergveme: (@) e
() wmfaegded: (@) faRrerga:
(xv) TheeeRT Hfa fagwonty Tt afa shaw—
(e1) ot @) 9=
GRS (7) =R
. Ragwemt waa |

(i) &R BT A |

(i) IRRGIART oo, prpel

(i) qAM . IR H Afawfa |

(iv) Pomds ... U TIRUTHGY Ao |

(V) QIS T dfeqer: |

[ L UL U U §



(Vi) HEIG e Feugrf=raTeHdy |
(vii) JTETHRAIST I ..ooovoee arfag Sad |

3. ST RRITHITAT—
(i) BRAAYTRNH FeUY USRI FANIAYE fored |
(ii) CIWCH‘INHCJOII?I"QIIIZ c'{,\IChIChNZ 7
(i) rgauereRawy forad |
(iv)  SURABHAAR yerRid fhd ?
(v) IR BT v ?
(vi) IO IGHTARTT: XIAThR: B: 2
(vii) ‘gTfaHT goul @I’ @ dr? forad |
(viii) PHETT BRI ALTOH?
(ix) gdEdfade @R & ?
(x)  3fad fbe?

gre—"9"
AERIRTIHPURT—
FEIRR BT raar+ forad |

4

5. 94 f2 fagmwa—sfa e q=xad |
6. @ USTORLAT? AW forad |
7
8
9

. @ AR ?
. Reraus: & =9 ?
reAFTeAfafel aufud |
10. SIHRIT SRIJT SHATHT Hf T I ?
11. & USTAIARE? forad |
12. AfFTsAyOfcasUvRIRAT=: B Mgl =T ?

15. JadTcATSIG: fSement™ T b wRIfd?

gre—"q"”
16. dQTIGARCDITRTIAR Fga®y forad |
SIdT

uaref: Hicfde: ? IRER HIgel Fwer?

17. IQTARLRATH IR GAMIRYEY fh Jare4q?
YT
IgHRARAT SARETHYRY FdoIT VRl $Hf Jafiadq?

18. ARETHUR IIHY HHERITTAR forad |
31T

SRR MR for@d |

JEE U U U I U U UL UL UL U §

N DN DN

N N N N DNMNDNMNDND O



19. MTTANHORY FTeTshIS] DA< aTYAf?
STIAT

FTETRIH AT SNy feh ATerH?

gre—"g"’
AerreeuET—
20. PRSP USIT=ATTAR ARYT BT |
(@) SleawyH | (@) ARIRGHIH |

21, gagddd: IR forad |
ferar
SIRTITHERT: AfFREaRYH SURATII |

\

22. JUETEHBICANI—HagShRITEI: |
I G MelR ATy | |
YIS IR AR |
Jferar

IR RhE: | ST faerearET S |




Y-S T

Fe — JRSIITEN:
aﬁia: — %Jaai
g — 3 we 15 HEe(dure sREIH) qUIihT: — 56
1. G%Q?II q RN —
% . SECRRL| JHIR: gfereray
1. | 99 17 27.00 %
2. | JAdRT: 11 20.94 %
3. | SIFIANT: / Jfeafad: 15V 26.06 %
4. bl / oThd 12156 26.00 %
AT 56 100 %
2 U YHRITARY HHHR: —
. | AT YBRT: | G | HAued | feflor: DI PECIEI T —:
3. qr | b fcrereH gfcreraH A
1. | IS 1,/16 1/ 8 14.28 13.68 15
2 | Raaze=m 1/10 1/ 5 08.93 10.58 15
3 | SHfcrereERIcA®: | 1 /8 1 8 14.28 20.58 25
4 | TEERIHD: 12/12 114 18 32.14 30.58 60
5 | arHSTRE: 03/3 03 9 16.09 12.58 40
6 | Feemes: 02/2 04 8 14.28 12.00 40
G 20 /51 56 100% 100.00 195
3. fAYIeeg M 3iHaR: —
4. [ELRERS G JAPIR: | Ufcreraq
1 | FIde: GigdT UHAvS S 33 O 60 - 30 53.58
2 | rforrg R 13 23.21
3 | gt YRR fqargiaTaT ugf: 13 23.21
56 100%




RS BV TS | :haw (g o)

DHe — IR fawr — QUi — 56
SRTIom. / St M araa’ra: AT / Sifireafe BT/ Hfereen i
& & & €
Frde: dfgdr 2(1) | 1(1) | 1(2) 3(2) 1(-) 3(2) 4(1) 1(-) 4%5(3) 1(-) 4(3) 4(1) | 30(15)
UYIHHVSTH 33 d:
60 el
PHUCIRRELSI 1(-) 1(-) | 1(-) 3(1) 1(-) | 3(2) 3(1) 13(4)
R ATIA 1(-) 3(1) 3(-) 2(-) 3(-) 1(-) 13(1)
C Ij
faareoas ugf:
3(1) | 2(1) | 1(3) 3(2) | 3(1) 2(-) [2(-) 3() [3(2) [3(2) [4(1)|2() | 1) |4(-) |7%(5) 1(-) | 1) 4%(3) | 3(1) | 4(1) | 56(20)
12(6) 16(4) 14%5(5) 13%(5) 56(20)

feea—AderT — ¥, 16 @ 20 Yoy U@ SfidR&fdmed: &1 |

AT — BIBHIG die: TET JHANDT FARGHET T YA |

FHIERA




No of Question :- 20

No of Printing pages :-

INSSIUTEITI—UNIeT, 2024
FIJS:, hle—44

I9I : 3:15 BRT:

Wenfog: g

1. G g FUeHANR AHiGT: Afarid: e |

2. Id YT Iifarat: |

3. ANl YEATCRIOYRYRABIATHT ST |

4. Y YIY ATARGIRT: AR, T Fd AFE UHS U @A T: |
5. Fd U HERAARTHT IROIAT: |




IJ9I: — 3115 BT

1. IRGTSHET—
() e HUSAT Afa—
(&) w1
(&) ue
(i) TdewIude: qed—

(&) Trgee:
() Trerdas:

(iii) T FYAT—
(GT) foerfer:

(viii) TR 9T aad —
(31) PRV
(|) fRrem

(ix) STFHTUSY YT aciad —
(31) T
() rerdde

AiSel U UH (JMEeyeu=m)

FI, Dle—4a4

Gus—"3"

(@) FHTTADIR:
(&) TSUATERDIR:

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Yo



(x) FTIeg AREISRT—

(31) AN (&) NToTEY
(A) oP: (]) emder:
(xi) TSIIIT TR Hafd—
(81) U= () wa
@) fo=: (®) A=
(xii) faare sred: ydrIa—
(31) d=m @) W=
() fauma (@) A=
(xiii) TTHIEHHAY FTEACRAYAI fehaa—
(31) sTaw (@) T
(a) s (=) =g
(xiv) fasexy Sufaerfa—
(1) foar @) ax:
(&) #rar (%) &=
(xv) STERRIME: wWR: faerd—
(31) 3rgaT: (@) w@fRa:
(%) e () &g
(xvi) Y STa—-
SORELIEI (&) TpATA
(%) I () v
2. RepeerAi gRaa —
() JTEET: . e T |
(i) TEGET ot |
(iii) BTCT e PRGN
(iv) TS ) A RIS
(V) BIAR o ISR e
(vi) ST oo R |
(vii) BRI e Eﬁhﬂ'ﬁﬂﬁ |
(viii) RERTT FHH T8 |
(ix) Wﬂéﬁ ........................... SRS IS
() FOT s CRGEE
3. HfeTERIRICTDT: JET: —
() AguD T fored |
(u) 3T oTe & aRAN?

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo



(v) ATOTad: HeTEROr fb W ? 1

(viyFguD G ford | 1
(vii) TTRIAC UIHT i HeaT: Jiwg ? 1
(viii) SESITHT AN o | 1
wre: — g
TEERITHYLAT—
4. gaIggd GRUll 0 SfcH—= AR I | 1Y%
5. 3Td~ gdd o ... S 7 W’ 1 A | 1Y%
6. SIS TEARYT o ... Sfd 775 AR 1/ | 1%
7. A8d™T o ... i 795 AR R®IT | 1Y%
8. MM IS o ... i A AR YR | 12
9. SR 31 o ... Sfd 795 AR 1/ | 1Y%
10. H<T BIAT o ... i 7 IR qRIq | 1%
11. A FEHUHIH o ..... Sfd F5 AR R} | 1Y%
12. T e gidaam o ... M A5 WRER 4R | 1%
13. U A1 37 o ... i A AR R | 1%
14, JUIHTHZIRURI forad | 1%
15. TR RARY HAH TTHT:? 1%
Lrs—"9"
SRR g -
16. BIAART: UTSHTEHT? 3
3t
Hid fagaa:? weegd |

17. MreaRoTfafe forad | 3



AT

ERENEICHEIS IS
18. HIDUTRIE o |

3rerar
ST R forad |
gvg: —¢’

19. =Ifhdy dHed TR F=I: TR GRUT: |

AT

PG JUA AT |

20. JITUFHARTT I8 ba- AdNT AT GER G 13T: |
37T

TR SRde &1 SYARar” sfa favd Ty |




Y7 DI Aol

Fer — GRS
favg: — Arfeegemey ( vu87 )
e — 3 gue 15 e (AURERERIA) qUTiehT: —80
1. I JFIR: —
% . SECRRL| JHIR: gfereray
1. | 99 25 31.25%
2. | 3raqwr: 20 20%
3. | SIFYANT: / Jfeafad: 19 23.75%
4. | DI /Hifeddr 16 20%
IIT: 80 100%
2 U YHRITARY HHHR: —
®. | YTl YhRT: e | gfaueT | getten: | ufireraH T FeTfaa—:
g [ | AP JpTH NN T
1. | TSI 1/15 1 15 18.75 29.41% | 20 foomT:
2 | Raaqm=H 1/07 1 07 08.75 13.73 15 foouT:
3 | SrfcrergaRIS—ue | 110 1 10 12.50 19.61% | 20 foaT:
4 | THYTRTHG—ULAT: 12/12 2 24 30.00 23.53% | 48T HT:
5. | SR g 4/4 3 12 15.00 07.84% | 40 fer=uT:
6 | EuTHG—UTT: 3/3 4 12 15.00 05.88% | 52 f=r&mT:
IIT: 22 /51 80 100 100% | 195 A&
3. FAYIaAT™ JHHR: —
.. [ELRIERS! PR | ufaerd
1 | T=TND— 40
BERkRRCE 10 12.50
TSHY: 10 12.50
NASKGRREE 7 08.75
Y 5 06.25
BRI RCE 5 06.25
I 3 03.75
2 | AEgEq 20
YR T—ATaT: 9 11.25
favraeqye: 9 11.25
HfquRey: TreaReasd 2 02.50
3 | ufcHmIe Y 20
YR T—ATAT: 8 10
[ERREREEGIE 5 06.25
FpaRARF =TT T 3 03.75
TRT IR 4 05.00
NERIRIE 80 100%




hell —  aReER: fdva: — Arfeca—Imesm — 80
SEYfaHT. / SufaeT. EIRl ST TR / e Prarer / Aferdar A
R R HER L
= € = =
T 5Tl —
EEEEEDGE 3(1) | 2(1) 2(1) 1) | 2(1) 10(4)
TSI 3(-) 11) | 2(1) 1(-) 3(1) 10(3)
HETHI: 2() 41) | 1(-) 7(1)
SECHAY: 1(-) 1(-) 2(1) 1(-) 5(1)
TG 1(-) 3(1) 1(-) 5(1)
ENEEDCE 1(-) 2(1) 3(1)
HEIGTH
RT—HTaTN: 1(-) 4(1) 3(1) 2(1) 10(3)
[ERREEVERNE 3() 1() | 42) 8(2)
FHIAURDR: TeaRaged 2(1) 2(1)
PINEIRICE]
RRAT—ATaTeAT: 2(1) 1() | 1() 4(1) 8(2)
[EEBCIGEASIE 2(-) 2(-) 4(-)
JIHARARATHT o 1(-) 3(1) 4(1)
BRGNS 4(2) 4(2)
AT 12(1) | 4(1) | 3(1) | 6(3) 1) [ 20) [ 40 | 2(1) |30 [ 8@ | 2() 1() | 6(3) | 6(2) | 1) | 2() | 106) | 3(2) 80(22)
HdAT: 25(6) 20(4) 19(6) 16(6) 80(22)
P — U9 16 @ 22 TY TS JAARPADe: AR | FTTH— PIOPIG dfe: ST FPANDT NARBGEAEAT ° YT |




No. of Questions-22

No. of printed Pages —

BT — IRSIUTT:
fawr— AT, hre—87
TR AU 2024
HHY: — 3:15BRE: oIt 80
WNefehy: AM=afeem—

(1) TR Ty TuTTIAR TEiE: Jfariar o |
(2) |d e Sifvarat: |

(3) A%l YAMTIRITT SRYRASTIMG ol |

(4) Vo YYARI HANT WUSTHIHRIOT Udhaa ol |

(5) Td TR HEBAARIAG WG |




AfSel TS (STaRiTET=H)
AT — ARSIUTEIT:
fava— Arfeeemed, dre—VUs7?

HHY: — 3:15BRE: oIt 80
gus: — 3"
1. TSI —
(l) W ﬁ-‘\ﬁ-@sag\'aﬁé ’HT‘I[%[— 1
(31) uRax: (@) wusd
(4) IRARTSHR: (3) ST
(ii) BHRY[ [IA10 = BRI BF HTT° 1
@7) fawa (@) eI
(%) faeracam™ () Ry
(iii) TSTTD AR YT HIfi— 1
(%) 9 (@) 7@
(|) <ot () 3
(iv) IR (qUTT:) ST UsTaH: qut: \AHIhIT: Haf~d— 1
SORCHBIL (@)siteTam™
() crferaram (€)9eramH
(v) faPrageaRi< ¥ i &1 Jfa: |ard? 1
(1) @<t ORIS
SRIEIS] (@) e
(vi) TS@r 3T AT JAHRT? 1
(87) o (@) fobaram
(®) a¥garT () A=
(vii) ‘DI RIS TANHIT WRIS8q ST DIgel o aq? 1
(31) Af~gemmeT=IH (d) PraaTRrTH

(®)3rg < (%) Geammeras



(viii) TSTATBTTAR  YATSTAHG T&0T hicier?

CHREIER (@) wsfaer
(&) fefaem (&)dafden
(ix) JTETSHUARITT el ATIAT A1 qeAl gedfa— 1
(37)3mHdC: (@)<afi:
(@REAR: @) frmae:
(x) JIIRIATIY WL Hi~d— 1
(e1) I @) 9=
(=) = (@)
(xi) fareqare &1 faefion ada? 1
(31) IMHBEATR: (@)erHugah
(&) Nar () @
(xii)  Frgoe" Haete wed: e R e ggaad?
(1) IE™ (@) <teHoTH
(\) w=ara () ga=ma
(xiii)  FgET: qrETRAn: VFIRMT wafd— 1
(a1) v @) g
() freerm (3) FHTEIGA™
(xiv) e RIRMET faerk— 1
(31) e (@) PRI
(@) FsTRAR™ (]) BT
(xv) JfErof gl ATiienT? 1
(1) = (@) RSB
GIESICIBEIRE] CRINE
2 Receermmfa qraa—
(1) HEHATTG HRAA STIRo{ol: | 1
(1) — HeeARASH AT H | 1
(iii) JTORMRAT B AT, o | 1
(iv) g A 9afd . R | 1
(v) RUCRT TIGT AT o | 1




(vi) FafeTeser: Hi¥asd e ... | 1

(71 E— FiqafeRenfigar g2mo: | 1

(i) TFRARIAA VRIRY A’ ST DISABR:? 1
(ii) P qT: waf=<? 1
(i) @ g BT A gt :
(iv) TS HRIZTY Diafaed ? 1
(v) e @:? 1
1
1
1
1
1

(vi) YA BIAITE: Sl DT A&ToT?
(vii) qeT: B a«dfd g P
(viii)  TEMUICIRY TN IS &1 acdd?

(ix) WRA: DGR AG[eIg AT YANTd: ?

(x) RIAURY HATGAR BRI o Haafd & ?
gug—"q"

ARIA DI —

4. ATyl 9T F 99 g S DISAiDR:?
Toeted vl oI |
5. 'IUT TSR] aTfel #if=d = O 0" AcidR Uaed FA&oml forad |
6. YSIRIER Ty fored |
7. ARG WaT: & ? AMI o |
8. @ﬁﬂ'@ﬁ: AT AT TR |
9. ITeT AIET GRARNOT ARH ALTDH * ol ATl o: |
10. HISTAUTRI qUF HIGATTAR HRONIH |
11. HOGARI MRl b IRrezF ? wead |
12, GUHYLNET ARMAT Ul [9GAT 53 B URTY F&0MU ol |
13. "3JeRid TRNS ZaNSY dRT:" Sid Fad: @i AQHI: |
14, JATGR Jodbarid fhHd AR i Udd: AYATARIT BT | 2
15. &I 9 WAl A dF <@l [Aeed’ 33 8w URAR doctelvl oig-gH |2

N N D N D DN DD DNDDN



gus—"9q"
A R T—
16. fH=fIRITaT: HIRGAT THRT: HIRGT: ST BV |
() CTATARTSUTA AT AT |
TR AR W HoN ;|
(%9) Adwed: FHRTY T NBRI FqaeT |
RBIgdl J HAANT: USRI 26l e | |
17. frforRaaar: FIRFGAT THRT: HIRGTT: ST HRONAT |
(@) HERRIIAgR gaisardl 9 wied: |
TS S da=il I&To AT | |
(@) SURHUUER g M gid ysfder |
g1 faerf=a et | Hadia =@ |
18. JENIRITAL: TAIHAL HFRIASHR FIFTHATRIT ARG : |
(®) UTATGTISIT®aT AU,
[re Aol iAoy uRed SE: |
TARS TR GURTSANNTZ8M,
A TRAMATTI geewfaavar=: | |
3T
(@) I @HRIERY dogare ! O
A< H T G Ih I N |
Tl  GAfReAdBT A TLaRIoT,
AR RIdER RIS HrIaerI | |
19. UMM HH JAIIGR HARIRI TRIAY: | 3
31T
AR ARACFT TG |

grs: — "
e —
20.fFHfIRITAT: HIRGAT: T HIRGRT: R BRI |
() ¥ SrsemeEn fGomd RaiaauaTsid |
gy gTaerRgReferfaayar e | |

(@) AFTIHET FIAn: Fafe UeRonieT |
refsef=i I afad dqarera s | |



21. JAGITIRITAT: TATRA: HFRICSHR FIHT—ARAT BT |
() IRMEAT TRIUMT ST A [SETE],
Rﬁaarg\ﬁdmurw@ﬁrfﬁﬁ‘ﬁﬂﬁ- |
AT YRWTTITST ™S AR,
Al gfauRerr e Fif: | |
(=) ERIKIRIGR[CHIT BT AT,
WY HRD AN HIEURIE |
AT Al TAT IR IHATATIRI: | |
22. JATARIAA: TATRA: HAFASHT AUFT—IRAT e |
Tl g4 IMHRRAIRET @ FAHaAH—
fd=ma a1 fa9< | 9 gfd agen ARG R0 |
Feiigaacel sRaA famT wga wawd,
Ry Ad i fghn: e es: ||

Fq a1 AIMEAT Safigaarg =R,
fPAeTg: & O AheTTedbUaH | |

4




Y-S T

e —RSBIUTET:
fvg —Am™Tgeeeq 55
afyy — 3 gve 15 fAFe (Fue ERmERM) quifedT: — 80
1. I PR —
% . SEGRRL| JHIR: gfereray
1. | S 22 27.50
P EEEESE 25 31.25
3. SFIGART: / i 18 22.50
4. | DT /Hifeddr 15 18.75
AT 80 100%
2 U YHRITARY FHHR: —
% | UIATT UhNT: US| Gfued | gellr: | 3fehTl PESIE] FRTfIT—:
G qr | Hepr: fcrereH gfcrereH T4
1. aq;ﬂ%ng; 1/15 1 15 18.75 29.41 20
2 | RarermrH 1/07 1 07 08.75 13.72 20
3 aﬁmc : 1/10 1 10 12.50 19.60 30
4 | TERIRIHE: 12/12 | 2 24 30.00 23.52 40
5 | SRR 4/3 3 12 15.00 07.84 35
6 | MduTHS: 3/4 4 12 15.00 05.88 50
T 22 /51 80 100% 100 195f%.
3. (NIRRT JHHIR: —
4. [ELRESS G JAPIR: | Ufereraq
1. | dTdStferITeeH 45 56.25
2. | [ademesmr: 35 43.75




Y- ey (g i)

hHeEll —IRSIrET: —AMRIGIH 55 — 80
SeYafeHT: / SUfHT: Bt e TAT: / et Prorer / Aferaar T

“ “ © %
. | aTaSiferarTeRH 6(1) |3(1) | 1) 4(-) [4() | 40() | 42 6(3) | 6(2) 3(1) | 4(1) |45(12)
| faamgemiTT: 5(-) 3() | 4(2) 2(-) | 42) | 3(1) 6(3) 8(2) |35(10)
T 110 [3() | 4Q) | 4@ 20 |40 | 60 | 8@ | 3Q) 12(6) | 60 31) | 12(3) | 80(22)
o 8022)

22(5) 25(5) 18(8) 15(4)

fre—AorT —  160:22 Ty U@ SAidRefadmed: 1R |

ATH— HIBHIG dfe: TET JHAABT FARGHET T YA |




No of Question :- 22

No of Printing pages :-

IR U9 &T, 2024

AT, BIS—55
THY : 315 BINT: QUTiehT : 80

ey A

1. GREATIfY: Hduer U= AT rfFaria: < |

2. g4 Y AfaE: |

3. A JETMTCRIVICRYRABITG G- |

4. AY Y AFARSART: A, T T 9T THA TG A@H4T: |
5. 4 UET: RGAATEgAT SR |



qSA e UF (SMTSRIITTIAH)
IR —uReT—2024

AHTI—3TH, DIS—Vu-55

9 — 3:15 BT

1. SITSYT

() IFTRITERY INfeyadd: &:?
(1) ST
(a) Ta:

(i) ®fa frcyEa:?
(1) ISRzE

(|) =

(i) INRLFDR: ;2
(@) Traw:
(@) eiier

(iv) IFRIS iUy favey?
(@) Py
(#) dearey

C C C
(v) INTET g9’ ddd—

(vi) IR & HHRAMA?
(&) W=
(&) anT:

(vii) foeag faeram: sfa ?

w:_llall



(1) AT EREATIT (@) T
() quz=at (@) SvaRufdmETg
(x) HerererRTy ARG ?

(an) arfa=m @) o

(&) = (%) w1

(xi) fadmg=mor: Sl & ?

(ar) wrfereTa: @) <=
() fader=: () amfewieRreTd:
(xii) fIIm g™ $&1 TR gaxorer ?
(31) ~mIeI @) Jereei Y
(4.) ARegee g (@) HrHNITEYER
(xiii) ST T geiH ?
(87) ST (@) =
(|.) RS (<) uerar
(xiv) BT AR ?
(o) T= (@) F
(@) =i @) <=
(xv) sTEATHBoadre Rigafd ?
@1) @ (@) s
(4.) e (®) =Y

2. Raarmrf w®ad|
(i) 31T ANTITATITH, AT oo
(i) T R I |

=
o
Na
8
Na
a0
av
A
_@7
ap
S
o 2
el
4|
fal

) —— TR U= |

3. HfdeTEgTRIHS YT

(i) 31T ANTTRTRAAIIS 372] Te: HRA~L IS ?
(ii) ANRTS vgEuew fb M ?

(i) IR A&T0] {2 |
(iv)  IHSITOIHIE: Biafaer: ?

[ L UL U UL U U

[ L UL U



(v) g pfdafaegd ?
(vi) P TaFI: ?
(vii) STy fhq?
(viii) & TT GToT:?
(ix)  UTCAETo] fobe ?
(x)  gerfsgmor &fa ?
gre—"9"
CTERTHPURT—
) . PI?
TAIG: &:?
. foraramT: femef wafa?
. ARTETY it ?
Ja: B ?
. ARy fhe?
10. IMIfeYCH fhe?
11. $IgT D17
12. THSTYAT BIf?
13. F=eifdE ag; Pory ?
14. FRATIT: PO by ?

15. SEANSTSIATIIT &T1?

© ® N O o A

gue—"9q"
LRIy T—
16. TAICHN fada w1 |
(@) faw: |
(@) g |

17. TICH fada o |
CORERLIH
(@) 3maH |

18. PHIHH [qdd- HIUNIH |
(@) HTOTIT: |
(@) JATER: |

19. FRIIGHH fddT= HrdH |
() sEAfaH: T2 |
(@) oA |

gug—"§"’
IRCRC I EA b
20. Cb{{lf%{ddﬂil %j\ON'il %flblld\qu*gﬂj‘{-llﬂ' Y] cbI?«ITI

() SIRUTITTET |

[ L NS UL U U §

N D N N N DN DNDNDDNDMNDNDDNDDN



(@) I qrad: Yord: |

21, YERIRGW Araref WureggIgar fad=d |
o FIHAAGQdIuEedDH |
A= e AETgouH sy | |

STRIAT

IAFHICTCRI SEASIHITE T |

WWWHW@:WWI

22, JAGAITAIRY WUGII=ATQL T |
3eIdT

HAARIUER AegTed fadehgSHIRTAR fored |



Y-S T

Pel — ARSIITATT:
aﬂa: — wqaa:
Al — 3 GvC 15 (U ERETH) quifer: — 56
1. SR WMHGIR: —
% . SECREL| JHIR: gfereray
1. | 99 12 21.42
2. | AR 16 28.57
3. STFITOANT: / STfaeatad: 1415 25.01
4. AL A oThd 1315 24.00
ANT: 56 100
2 U YHRITARY FHHR: —
®. | YA YR | YT | MU | el T EESIE]] [T —
3. qr | b fcrereH RINKICE A
1. | IS 1/16 1/y 8 14.28 13.68 15
2 | Raazem=m 1/10 1/y 5 08.93 10.58 15
3 | SffcrereERIcA®: | 1 /8 1 8 14.28 20.58 25
4 | TIRICHS: 12/12 1Y% 18 32.14 30.58 60
5 | drEsHN: 03/3 03 9 16.09 12.58 40
6 | Feares: 02/2 04 8 14.28 12.00 40
G 20 /51 56 100% 100.00 195
3. [T A HIR: —
4. [ELRESS G JAPIR: | Ufereraq
1 | AHASE RaIgATTRIISY GHHISETY: 30 53.58
2 | ARG REn (FEem) 13 23.21
3 | BrRRTHIfdareg-Tg-Tug 13 23.21
80 100%




Y- Ay i)
D o— QTP:la_q’:

FeIT —  IRSIUATY: fawg . — 56

SRR (e / Sufae: T . AT / e B/ Aferedl i
RIGCERSII] 2(1) | 1(0) [ 1(1) |3(2) 1(-) 3(2) 4(1) 1 4% 1 4% 4(1) | 30(15)
T HTISH (-) (3) (-) (3)
TIHISET:
arRET R | 1) 1(-) 1(-) 3(1) 1(-) |3(2) 3(1) 13(4)
(F )
SEHIRIEEIE 1(-) 3(1) 3(-) 2 3(-) 1(-) 13(1)
T e (-)

1(1) |3(2) |3(1) 2() 1) [3() 132 [3(1) [41) ]2 [1 [4() |74 1(-) |1 4% |3(1) | 4(1) | 56(20)
1. 3(1) | 2(1) () | () (5) (-) (3)
JIAT: 12(6) 16(4) 14%(5) 13%(5) 56(20)

feca—derT — U4, 16 @ 20 T¥Y U@ STdRdddbed: 31 |

JATIH— PIGBHIG dfe: AT ABAIIHT ITARD! AEAT JIAEDT |




No of Question :- 20

No of Printing pages :-

INSSIUTEITI—UNIeT, 2024
ATIS:, hle—A47

I : 3115 S
Wenfehg: g

1. G g WUeHUANR AHIGT: Afarid: e |

2. Id AT Iifarat: |

3. ANl YEATRIOYRYRABIATHT ST |

4. Y YIY ATARGIRT: AR, T Fd AN UHS U AT |
5. Fd Ul HERAARTHT IROMAT: |




9T — 3115 BN

1. IRGTCSYET:
(i) THYEEr 9ISk —
(31) FFae:
SURSIGEEE

(if) deeATI ATHISHEATIATHIR—

(31) Yo

() T

(iii) ATSTR-THR: Ugsad —

(a1) faarg

(vi) JTRATAT BT glea: YATHRTAT? —

(31) g™
(|)qeTHH

(vii) TRETRET faerd —

(31) AT
QI CEEE

AiSel UeYA (JMeTve=H)

IR IUTET:

AT, DIe—47

Yo

Yo

Yo

Yo

Yo

Yo

Yo



(viii) derETITYd b UgS{ia?
(31) wroreH
SRNEL

(ix) TSI dda: Haft~ —
(a1) @

(|) ==

(x) AgUDHUTA BRART —
(31) ax:
(%) #rar
(xi) FRIRRATIAT ISR —
(61) Froam
(%) =arepRoT
(xii) TEATSEATATSRAT —
(31) STTABTEH
(9) FaHTBIISH
(xiii) RO F&To7 gfurfadd —
(a1) AT
(&) T
(xiv) ‘faare: g4l a1 &:?
@) fa
() fag

(xv) “wafq e <f?” sfa aafa—

(&) 9gP:

(w) foa
(xvi) =T BRIT—

(31) <ATSTRR:

(@) ST

Iz
Al A

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Yo



|

() ST o g | Yo
(DRCEE | E— NI Ya
(DRSS TTAT: FDIfTaT: | Yo
(iv) TETT oo o | Ya
(v) JMTDA e ag: | Ya
(Vi) ST o AR | Y
(Vi) SRIATT oo 3gerd | Ya
(Vi) TR e CIE N Ya
(i) AT oo Ha | Yo
(x [CEC R ﬁlﬁ’q | Yo
3. —

V) aRaEAT: HATHROES forad | 1
(vi) STRTORATTTI-ThIcl: h:? 1
(vii) faaTe AU AT foRked | 1
(viii) ATfa=TA—= forad | 1
gus—q

CTEXIRTCHDHURAT: —

4. AWV o .3 7l TR U | 1%
5. 3T GHIAET o ... S A AR ORAq | 1%
6. ¥ AL o ... S 75 AR 1 | 1Y%
7. QI d o ... Sfd A ¥R R | . 1Y%
8. g1 Il o ... Sfa 77 IR Ry | 1Y%
9. G WM o ... i A &R YA | 1%
10. ATHHET o ... Sfd A WFR RIA | . 1%

11. AT o ... Sf A= AR QR | 1%



14. TISINT: Bfd qaf~d ? AT RS |
15. gUITeROTTAfS forRad |

A I —

16. Hegag fhgeaa?

A TR Weedd |
17. o forad |

AT gouiad |
18, FHATSRH A Ty |
AIARUSLIHR quid |

gug—'g’

. IRy da I@Rl A WRaR. qROT:

SACIE

31edr
AU R o |
20. IRy ®o T@R: AT AR GROTAT: —
(0]

0.
(i) 3r@MYar o ...

ST

AHI R HecdHURIMqgd |

1%
1%
1%
1%



e —qFA—IISTT BIS—VU-94
Hell —aRS IR
fava— HepaareHy:
Jgfer—3 ©er 15 e (dure eRm=IH) quIiehT:— 80
1. SEITAHHHIN:
I TTH SIEIRE yfereraH
B9
1. Elukl 32 40%
2. SECISE 24 30%
3. SFIANT: / i 21 26.25%
4. DIeTerd / HifeTehell 03 3.75%
ANT: 80 100%
2. U Y RIJARHGIR: —
B9 | Ul UHRT: JeTHEI: | UfTIeTHET: | feflhl: 3fTI Tl | T —
\ \ :
1. PRI TBYLT: 1/15 1 15 18.75 29.41% | 25 fA0
2 RereerrTHq 1/07 1 07 08.75 13.73 10 fH0
3. SNTTALIRTHABIET: | 1,/10 1 10 12.05 19.61% | 20 0
4. TERRIHBYET: 12 /12 2 24 30.00 23.53% | 60 fHO
5. SR IAYET: 4/4 3 12 15.00 07.85% | 40 fH0
6. (RECIRICAREIE 3/3 4 12 15.00 05.87% | 40 fH0
AT 22 /51 80 100 100% | 195 A0
hTHHT — 195 “THT:
fAdmeudreT — 16 @ 22 (7 T=Y)
3. [ELRERSGIRCAIREES
4. | faum: JAPIR: | gfcrerdq
1. (@) TgRIGIABIGl TIGAUDRH (BURIGT: | 15+5=20 | 25%
PR )
(@) yErdl SUABRY (SURTGT: g T) | 7+3=10 | 12.5%
2, Rraxefaora: (M Ry fgdaifasT:) | 10 12.05%
3. ifaeraey (51 0100 TAB—IITH ) 10 12.05%
4. | AP (HIIA:) 10 12.05%
5. ahgerahy 10 12.05%
6. SERINCIECALE 10 12.05%
AT 80 100%




T e (<, i)

DE — IRGUTEI: vy — EXpIH—areHY: QUi — 80
' SeYITAeT: / SufeH: T T AT / et Plere / Aferdan T
v s € i P e bk
(@) TgRIGIaDIal 3(1) |21 |201) 6(3) 3(1) | 4(1) 20(8)
afgauaeH (FutiEa:
W@Tﬂ 20 |1 |10 6(3) ; 10(3)
(‘\Wﬁ-@l AT )
RraReiaor: (@M kM | 2() | 160) | 1) 2(1) - | 4 10(2)
IEGIRIRREIND
Aifaeraey (51 100 2() | 1) | 26) 2(1) - - 3(1) 10(2)
TATH—II=<H )
IHARDTY: (FTSIaT:) 3() | 1() | 20) 42) - - 10(2)
N ECESICER| 3(:) |1 | 20) 4(2) - - 10(2)
SCRINCIECIL - |- - 6(2) | 4(1) 10(3)
15(1) | 7(1) | 1000 24(12) 9(3) [ 1203) 3(1) 80(22)
T
24(12) 3(1) 80(22)
32(3) 21(6)
fea—Ae T  —U¥ 16 @ 22 (07 Uy ) Uo IAlaRBfADHed: AR | AT~ BIODIG die: HET ABANDT TAT JARD YD |

RN




No. of Questions-22

No. of printed Pages —

HET — RS
fYg— Fepaargay: (vu—94)
Fell — aRSIUTART:, 2024
9 — 315 BN qeiieT: 80
311 2K G 1 | S T

(1) TRy Tdwer WyTIANR AMie: AR a: |
2) |d gz f~amt: |

(3) \dY TEFTERINYT SERYRAGTI™G ol |

(4) THE YT HAYT WUSMIIRIT UHAT e |

(5) HANT YEAFTIRIOT HRGAARIG AN |




Afsel Ued UF (3Meeivedy=H)

fava— Axpdarend: (Vvu—94)

BT — IR

qUITEET: — 80 TR — 3 : 15 BT
gus: — A
1. aEIegET:
(i) SreaTemfST SR BRE=eT wafy —
(31) warel (@) <

SOEBEIE LIRS (%) Ireguciregel
(i) “amgor @ on Hafa -

(a1) STPRE (@) SPRE

(W) sPRE (5) FPRE
(iii) "R gfa—

(a1) =TT (@)

() " () P
(iv) gaTTRIe: O1g: wafi—

(1) PR (@) de—aPR:

() Je—dPrR: (3) Je—r:

(V) “ITeTIied YGRS &l Hell Hafd?

(31) = ORSEL

QEEIREEESEI (]) WREHUTHEN
(vi) aofF Wik SmRfe —

(1) wamRiE CIRCINEE



(vii) RreRTSTESTIHBTRIe ARSI ?

(&) TRRE: (@) Rradr:
(%) SrosTerar: (<) SraRTSiiar:
(viii) 3rET: B adid ?
(&) T (&) TraTer
(@) ga (<) g
(iX) HOUMURION B B faIfT ?
SIEREE (@) T
(|) #a (&) TRIgBRoT
(X) FAHIIRG—H=ITIT: A fdera —
(1) e (@) BAR
(@) S ) @
(xi) HIg: 9T —
(1) v @) frgar
(%) ATger: () waTe:
(xii) Rqmree fig: = fed—
SYRCIERIEES (@) gHTE:
(#) womfe: (2) grotrard)
(xiii) TTETET i SreR afwi?
(81) T @) <1
S (2) v
(xiv) BIIAERIS IARFART —
(87) srefemesH (@) Sy
(&) ae=meEH (%) eemEH



(xv) i FeIH0T Haf=<i?

(i) Trifer a7 fa o & grEr wafa ?
(i) 29’ s yAAETIS 3 forad ?
(iii) e HR?
(iv) TR @ I 2
(V) STHRUMITE: SR HE@Rf: & ?
(vi) = FR=aifgzaa odRn g Arareit o |
(vii) TR g forad |
(viii) ‘3T SRy 9ref forad |
(ix) IRT: HR?
(X) HPRGHAT: FH B2
[CLSHE

4. TMOTgAH’ Sfd WU AEdd |



5. ‘dITHIOT: * i ®U IR | 2
6. ‘DA’ 3 WU AEIT | 2
7. qaf=a’ sfd w9 arRd | 2
8. YA Sfd ®U AT | 2
9. ‘TR T~ Sfd g ARJTH | 2
10. RIRISIISIR TRIHH AHRIURTAT  &: 2
11. NARHRE STaAfIwy Hferquik=ar oRkeg: | 2
12. 9Iq: IR M= forard | 2
13. P AR A0 forad | 2
14, IREPH FEUYT TR | 2
15. G SIA AR T AR Hafa? 2

Yvg: —'9g’
16. FLARIAY HANTES gal: YA AT Bl |
() el | A A" (|) ABEITE (2) wrgy v (§) srar At a3y

17. JFNfARITAT: TATHA FRTTHR NESSHENINC HT] |

() SIS BT 0T gasel &R AT b,
TR g g1 faqfaar <= grenfaf |
oI R IfoTeTel HERAT gacerad: ReRH,

T A IO HId O AT goi=ibd: | |

18. AGMARIAY ATRIY DY AT AFHATgarar faern: | 3
(@) arferenT fa=mmer™d @1 IR ST 2 |

(@) ®fq 7 g T |



@) g9 S o |

'
20. aﬁ%@ﬁgﬁ%ﬁmwﬁﬁl 4
() SNoTa: (@) eI (1) S (°) 98

21. JAIRITAT: TR FAFASHT ATASITARAT BT | 4

(@) aRH— E B! HucaaRE! ®f favarTard warffasesa Ry ?
S Jafed STR—GITAT, ¥ ShIaar WA g ST
gragfd, | REerom arge |

) REdRE] AMforeToed Wl T Wbl & Jeidl Riguigol
DR ° FUICY | DR o TEBRR Bicuqel Fqciicd YO SUred |

22. JNfIRETY HHID [ATgAIER Feear e | (15097e:) 4
(@) 3rfeT URAT & |

(@) AIHT ST AT |

() WCEFI_\’I'J |l favea: |

(&) Tl

o 4



Y7 DI Aol

el — TRSIITET:
faw: — HEERNCES
Jafer: — 3 gue 15 e (AURERERIN) qUIiehT: — 56
1. S IIMHGIR: —
% . SECREL| JHIR: gfereray
1. | 9] 12 21.42
2. | oradR: 16 28.57
3. | ST / JAfefa: 14%% 25.01
4. AL A oThd 1315 24.00
AT 56 100
2 U YHRITARY FHHR: —
®. | YA YR | YT | MU | el T EESIE]] [T —
3. qr | b fcrereH RINKICE A
1. | IS 1/16 1/y 8 14.28 13.68 15
2 | Raazem=m 1/10 1/y 5 08.93 10.58 15
3 | SffcrereERIcA®: | 1 /8 1 8 14.28 20.58 25
4 | TLRTHP: 12/12 1Y 18 32.14 30.58 60
5 | ST 03/3 03 9 16.09 12.58 40
6 | Faere®: 02/2 04 8 14.28 12.00 40
G 20 / 51 56 100% 100.00 195
3. fATIeRATHH IR~
B [ERRES JPYR: | gfcerdq
1. | YFISdaHidl 3 (6 T 9 W) 30 53.58
2. & 13 23.21
3. | SuAgHUg T faargugiaeg 13 23.21




Y= Aoy (g <)

P& —  aR<EA: Ay — geetravlde;, . — 56
SCRAT: / S T SFaqH: G / e Prorer / Aifereear N

S[aerldedear o | 2(1) | 1(1) | 1(1) | 3(2) 1(-) 3(2) 2 1 A 1 v 30(15)

(6 o 9 wi=Tm) ) Q) (3) () 3) 4(1)
BISEIGDINE 1(-) 1) | 1() 3 1 3 30 13(4)

(1) 6] @

IUTI ygfen: 1(-) 3(1) 3() (2) (3) 1(-) 13(1)
11) | 3(2) [3D) 200 11030 [3@ 13 |4 |2 1[4 |7 10| 1 Y% 56(20)

IT: 3(1) | 21) W |[D]O 0|0 s ) 3) 3(2) | 4(2)
T 12(6) 16(4) 14%4(5) 13%(5) 56(20)

fReea—Aer T — U9, .16 20... U9y U SMdRSIdbed: 1R |

JNAET]— PIOPIG dfe: AT ABSIADT STARD! HEAT T |




No. of Questions-20

No. of printed Pages —

FeTT — IRSBIUTETY:
favg:— gaerasda:, dre—45
IR IUTTIIIeTT—2024
T — 3158 qeriepT: 56
qenfohar: ammafaem—

(1) TR U TUTTIAR e SfEaRa o |
(2) |d e Sifvart: |

(3) \dY TEFTERIYT SERYRAGTI™G ol |

(4) Vo YR HANT WUSTHTHRIOT Udhad ol |

(5) T TEFTIERIYT HERAARIAG WG |




Afed U9 97 (JMSRIVET93)

HEIT— IR AT
fav: —gdergds:, Hre—45

Y — 3158
1. IITSYT: Gue—'d
0) “TRENA JERTT Afed—
(1) 24 (@) 28
(|) 32 () 22
(i) ISfdeAgdal faer—
S)EESEEE @erga=:
(&) e ()emgda:
(iii) SR gue: faefiaa—
(7)Tgacer: (&) Tere:
(Wafer: (F)er:
(iv) ATSITEMH &1 SJalii—
(@)rger (@)
GIRIRSE! (@)™
) YOI #T: Afi—
(1) 40 (@) 30
(|) 37 (%) 50
(Vi)  goerwrad g #el Wi
SHSIEERER! (@) agdew
() rerdde (]) FTIe
(Vi)  SIERAFRIAEHT add —
(31) ®eu: (&) fere
(W) ATHH (]) fFroaT
(vii)  Sea: &:?
(@) o () e
(¥) wfter () ifeaH
(ix) UTSaIYT: Hgf—
(1) 14 (@) 18
(@) 25 () 50
(X) vy Ui aag Tefi-

qUIIhT: 56

Yo

Yo

Yo

Yo

Yo

Yo

Yo

Ya

Yo

Yo



(31) T (@) fa=iren:

QRRIS () et
(xi) STAUISTEHURIRNT fderd—

(31) FTaEH () ATITR

(4) Iqaew (3) 3rrdaew
(xii) REARIANT ¥R Hafa—

(ar) sRof (@) HR

(®) fdvlr () =R
(xiii)  wgUD U

(31) ®=ar (@) o=

(|) A (@) fau:
(xiv)  STEHRIgIAGEl fae—

(31) 3rscayifor () Teauifor

() Tacerayior (3) dEraifor
(Xxv) IS IR vatda—

CHRE] @) fo=:

() 9= (%) 7@

(xvi)  errareEm: fafrd—
(31) Su=IH @) A=
() T (@) faar

2. Reaaeemfa qraa—
(i) IO T |
(i) BRI I~ |
(iii) 1511521 A |
(iv) S 1C1 £ W JU: |
(V) AT, qB(QH: |
(vi) AR ... ICLESH
(Vi) 99 F faefireT |
(vii) Iz g3 Redm@for...... fasfd |
(ix) THMRHA....ooooo - |
(X) DT S W afd= |

Yo

Yo

Yo

Yo

Yo

Yo

Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo
Yo



16.

17.

18.

(i) AT HRAT FDN feohad—
(i) fqarg ar=: & Ar?

(iii) ARG BT AT AlT?

(iv) UeH N &: gafd ?

(V) AYUDH AT forad |

(Vi) S @ e

(vi
(vi

) SUEAYe Gt fored |
i)  faae faseRmaea—= forad |
Tue—'d’

T #4170 i TR IR |
AR 0 Siom= AR qRad |
¥ IS 0 Sfad= ¥ RAq |
HAT 9 qUId 0 S TR gRId |
g=aR] 0 i~ TR R |
GUSTT: ST 0 i ¥eR R |
SYIMEIAINT 0 $iaa—= AR YR |
RrE<ar 0 o= F¥aR qRId |
TS A 0 SioA= AR qRad |
AT 0 SfaH—= I qRId | ?
DHIGT: ST qUITEARY FHAT: Haf=T?
D ARII? forad |

gues—"g"
ETERT: I
JETII-AfS UEed |
J7erdT

UTSd i IO Haf~a? & 9 o ?
ATSITE AT forad |

3fexe
AYUDUTITAS ol |
BT T Fac=ie
3fexe
D dSHTHI?
gues—'q

IBEECIRIG LG | B

1%
1%
1%
1%
1%
1%
1%
1%
1%
1%
1%
1%



19.

20.

FRIfhAY o T@RT AT R RO |
i) I 0

i) g gaurdr: 0

iii) SaaIdl 0

iv) |fddr M 0

V) PETTTRIRI0

vi) SH=dT 0

arerar
TR HeTd AR |

XY DA IR AT FER AGAT: |




Y-S T

el — TRSIITET:
faw: — aregfas Y (92)
e — 3 gue 15 e (AURERERIN) qUIiehT: — 56
1. S IIMHGIR: —
% . SECREL| JHIR: gfereray
1. =Y 17Y% 31.25
2. | oradR: 17Y% 31.25
3. | ST / JAfefa: 12 21.42
4. | PrereH /Hiferddr 09 16.08
AT 56 100
2, YT IHRTJIRHGHR: —
. | gl I | UlyeT— | ATl | STl RS RLIERE
4. | geRT: @ | fereraq I
1. | ST 1/16 s 8 14.28 5.00 25 1.
2 | ReremrH 1/10 s 5 08.93 5.00 21 1.
3. | StfcrereERIHS: | 1 /08 1 8 14.28 5.00 30 fafte
4. | TERIAD: | 12/12 1Y% 18 32.15 60.00 36MAfTe
5. | TERN: 3/3 3 9 16.08 15.00 43 fafre
6. | FideTcHS: 2/2 4 8 14.28 10.00 40 MAfE
AT 20/51 56 100 100 195 fafe
3. [AYIIEATHGAR: —
®.4. fasawgfa JAPAR: | Ufaeray
L | yfaR=r: el = | 12 21.44
2. | faaamr | 11 19.64
3. | XAl [T R UhRT: | 11 19.64
4. | goigHoT YRR | 11 19.64
5. | RremarTag (T | 11 19.64
56 100




Y- Al (7 i)

hell —  aRerER: v — IrRfas=H . — 56
SeeIfaeT: / Sufee: Bt . ARG / e PrTe / Hfereet .
I HIE IR R
% & & &
1 aR=: %(1) | %) 1%(1) 4 |% 1 ) | % 1%(1) % 1(-) 12(4)
IeToT 9 | (1) | () (-) (-) (-)
IECRICIELY “(-) | % 1%(1) 4 1(-) | 1% %(-) 1%5(1) %(-) 3(1) 11(5)
(1) () (1)
NEll %(-) | 1(2) 3(1) n(-) | % 1% %(-) 1%(1) % 1% 11(5)
[EENICRR! (-) (1) (-) (1)
UHRE: |
JUIHHOT G- | %(-) | %() 1%(1) %(-) 1(-) 3(1) w(-) | % 1%(1) % 1(-) 11(3)
TRIEUT | (-) (-)
IRSIRIE] %(-) 1(-) I 1% 4(1) | %() 1(-) | 1%(1) %(-) 11(3)
ag i | () (1)
20) [2(1) [2(1) [4%3) [3(0) [41) | 26) [16)[36) | 4% [3(1) [41) | 2%0) |1 | 1() | 7%(5) UE 110 [20) [ e | 56(20)
ATT: (3) (-) (1)
17%(8) 17%(5) 12(5) 9(2) 56(20)
: 2 2

fee—AerT — U4, 16 @ 20 YTy (S IMARSGAded: IR |

AT — DB dfe: AT IAHAIADT TT AIND! YA |




No. of Questions-20

No. of printed Pages —

BT — IR
fawa— eI, hle—92
IR T TIIRIETT—2024
HqYg: — 3:15‘@?? T’ﬁiﬂ 56
wenfehy: amafdem—

(1) wRenfifY: R WyEIANR AMiE: ifaridr o: |
2) |4 ger: Stfamt: |

(3) A%l YAMTIRITT SRYRASTIMG ol |

(4) Vo YYARI HANT WUSTHIHRIOT Udhaa ol |

(5) Td TR HEBAARIAG WG |




Afed U 99 (ITSRIUETI=)
DHell — IRSIUTET:
I — IR, Ble—92

HHY: — 3:15BRE: oIt 56
gus: — 3"
1. TRITOTT—

(i) BB AT—YA: Weafd— %
(a1)=geT (@) afrar
(a)a=ar (3)amgeft

(ii) YRPIV TIATA: Hafa— 2
(ngE=Ta (@) gheaT
(4) TEeraen CIR:EEISER

(i) omrired arpire wfvae Head— %
(31)¥eTatedt (@)erdredt
()=TTdeh GICECIBE

(iv) YqRG AHAGRY el HRAT— V2
((e1) g ()7
()R ()aRgz

(V) aofie: <R sef- 1z
(81) gt fef (@) gfemfafar
(A) St f&f¥r (€) <ferorfafer

(vi) UG Harisfel R §HUS ATaeHHRT— 2
(87) MRaRRATITH (@) faamer™
() ITORRATITH (3) R reRTI=H

(vii) LT g o4 fohad— 2
(aF) &= (@) gE=TT
() TSI (®) favsrH

(viii)  <ET [EaarE wata— 2
(@12 (@) ¥
() T (3) FANIRMTSe

(ix) RfersT wamrémi grRfmMor swafi— v
(1) e CRISRINE
()T (3) focgrer:

(x) e oI - v

(G’T) SIREICIR (a) I DI



(xi)
(xii)
(xiii)
(xiv)
(xv)

(xvi)

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)

AT @rd fqumg faa—

(87) spfoeor (@) argetero
(d) g uieror (@) 3fTuRie™
Q1 YAYReAU FaTeH wafd—

(31) e (@) BB
(%) emTfeaaH (?) 3T
Rgwrer: @ etiRa—

(31) g @) ==

(%) & ) T2
AT I3 ANl SIId A1 JARRa—

(a1) 37T (&) TS
SIEIRER (€) araara
qd g

(31) mifaw=: (@) IRTE
GREIEERE () g
faeTeaiRa—

(@) fra: (@) T

(%) fasg () sgaa
Recreermma qraa—

DI BRATAN.....c..c.o RSATATLATIR] |
Tcched] STIYUHTEIAUS............... Ried T |
A 9AGTH o a1 |
I TR qUSIDIE 9 oo g |

& gRY A Q! I |

)

iz

iz

iz

iz

)

iz
iz
iz
iz
iz
iz
iz
iz
iz
iz



3. AT RIS~

Y N . . W .

1%
1%
1%
1%
1%
1%
1%
1%
1%
1%
1%
1%

3

3

(i) Aamfa: srgrau wafa?
(ii) AAGUIRAT qA: D AT I ?
(iii) gIaeMY UTH: J: & 7
(iv) "I I T &P
(V) AN IRMvSe e dar fhad?
(vi) HHIS A Frardwe fbq ?
(vii) A WRT ASSRIGSHAT ... " BT TAH?
(viii)  fevaTereaan sfa waf=<a?
gurs—"q"
ALRIHDILAT—
4. SUIgR%e ol |
5. feaarMfafeel: |
6. AN ST |
7. R B wafea? A o |
8. ATHANIH: AN TRATH |
9. IRGH feaamEmfaitele: |
10. BRI HEwd ok |
11. BIfGNAAR: oRe: |
12. YORIEvRY fHAYARTEH?
13, YfAORIETOTARIRE: |
14. TRrereerTa= forad |
15. "3 RIFGRAN.............. | QI JURYd |
gus—"9"
gl Iy —
16. TCRATEMIURIYREIR [SRITEAUSBRT: G |
S G
" YRR FEAS T " Udegdih g SRYT™ gUiHiY: |
17. XM QISFAE: YA ALl 9 quiHige |
S G
“TeeTamHAT fgUTeHoRA o " Udesdd U9 SRATIRT JoiH: |
18. ATSTRTY AL FIHTUT ARGIATH |



gre: — T

IRCRCIRCA R |

19. \YATY HYATD ° TITSYHAAAUN BT = forad | 4
ferar

ARSI TAIE........... | Udegdld U9 HHYSSHH: AT Hell o o= |

20. AYCId: JoTHMHTE RAfTAd—A= forad | 4
3ferar

"3 A TS A .o | ya ggdan |



Y-S T

Fe — RO
fawr: — HTHRUTIRAH (VU-86)
g — 3 |ue 15 e (AURERTEIH) qUIieT: — 80
1. SR WIMHPIR: —
% . SECREL| JHIR: gfereray
1. | 99 26 32.50%
2. | AR 24 30.00%
3. | SIFIYART: / ifdegfaa: 26 32.50%
4. | DTG /Hiferwar 04 05.00%
ANT: 80 100 %
2, YT IHRTJIRHGHR: —
®. | UMl YhRT: RS BATDT: | JABAT | YA | AHATIIT—:
e T gfcreraq | 93
’ \
aqgﬁ'lg_;rg:n; 1/15 15 18-75 29-41 30
2 | Raa<emye: 1/07 07 08.75 | 13-73 14
3 | SIfcrergaRIes—ue | 1/10 10 1250 | 13-61 20
4 | TETRTIHBG—YLAT: 12 /12 24 30-00 | 25-53 48
TSRy ZT: 04 /04 12 15.00 07-84 40
BERIRICR NGk 03,/03 12 15.00 | 05-88 43
ANT: 22 /51 80 100 | 100.00 195
fAheadIoHT: — Wre—d—g—3T: AT Af |
3. fATIeRATHHIR: —
4. [ELRESS G JAPIR: | Ufcreraq
1 | (®) S o TIHRITH 20 25%
(@) BATEHANATIDHIUH 10 12.5%
(1) BTy DI ITUBUTH 10 12.5%
(5) IIIUBRITH 05 06.25%
() FANUIITHIUTH 10 12.5%
(=) PRBUDBRITH 15 18.75%
2. | femgemTq 10 12.5%
2AT: 80 100%




Y- ey (g i)

DHeTl — ARSI Yy :—ATHRUTIREH (vu-86) QUi — 80
%, SeIfdET: / SUfoR: Bt . FRIENT: / et Prerer] / Mferdrar T
il
A EN ARG ER IR
= = = =
1. | (®) saYfeeTIaHRUM 3(1) | 2(1) | 2(1) 3(-) 2(1) 2(1) | 3(1) 4(1) | 21(7)
(@) TN GTIHRIH 2(-) 1(-) 2(1) 2(1) | 3(1) 10(3)
(1) BATTYH DI TTYDHRITH 1(-) 2(-) 4(2) 3(1) 10(3)
(9) SIIIUDBNITH 2(-) 1(-) 2(1) 5(1)
() SNUGITHIH 1(-) 3(-) | 1(-) 2(1) 4(1) 11(2)
(@) PRBIBROTH ] 1() | 2() 2(1) 2(1) | 3(1) |4(1) 14(4)
2. | formgRmaT 1) (1) | 2() 1(-) 4(2) 9(2)
AT 9(1) | 7(1) | 10(1) 6(-) 18(9) 6(3) | 12(4) | 8(2) 4(1) | 80(22)
26(3) 24(9) 26(9) 4(1) 80(22)
faweg—dremn — AT — PIOHIG die: HEAT AGAIDT FARGEAET T YA |
TR —

e 9. 16 @ 22 (07 YY) U SNdRBlAdHea: 1R |




No. of Questions-22
No. of printed Pages —

HAT— IRSIUTEIT:
faua:— ArevorEmTEH (Vu—86)
IRGITAI—TET — 2024
Y — 3:15 BN qUIiaT: 80

e AT
(1)qﬁm@fﬁmwmtrﬁw JfaRiar o |



Alsd 9 A (ATeeUeTu=H)
HeT— IRSIUTAT:
fasa:— ArHoImTEH (VU—86)

I~ 3:15 BINT QUIiShT— 80
Qus: — 3"
1. axgfIssueAr: —
(i) T8 91 9 - I I 6 MM vafd ? 1
(a1) = @ w
(|) @ ) =
(i) ) wga” e JIRIGTITR HUARG— 1
(31.) HEaw= (@) FET
SIREERI (]) Hedq
(i) "RYFT" geg-1 Hafd — 1
(31) APRAI: (@) IPRA:
() dhRATG: (3.) PHRA:
(iv) forcy s ST Hafc— 1
(%) B (@) <=
) I () g
(v) ‘fagw’ SO FRIRY & AU Hafcl? 1
(37) TR (@) IR
(F)aar: TYAROH () STIU: HRRARU
(Vi) =rqR—ereaT freamia— 1
(31) UhaaT: (@) fgaamr=:
(|) Iga==T=: (&)=
(Vil) SurMg’ SF YAl Hald — 1
C)IEE| @) faaq
(w) for (2) fa=t
(viil) SNt TqR—3Taw TR Ifq9fdaagaaTmydRa—
(@7)rgueT (@) =ragem
() IgRM (&)aTHIH
(iX) R TIH NI I—aee—faugs I3 fhe?
@1) 3fts: 3o (9) TgxDTe
(|) STl (§) STeerar: for

X) gy s IuETSTE—qurd g3 fha? 1



(31.) FAATRA BSAHG! (4.) aREUETITETE

(|.) | AN DERLENECIEINE
(xi) ‘sfER suF ITIA D AR~
(87) FroT: CARSHIHE ISR
(¥.) FATARTRI: (4) SrerRfTaTa
(Xil) WR WRE g9 fgca—faems g3 fae?
(er)fcd e (@) sy =
(@) fafeararamar (€) gy
(xiil) =1 Sfa AT yegAT Haf—
(1) STg—fmer @) A9
(\) =g (@) 9y
(Xiv) srersaely ggfar: erear wafa—
(31) dfemre (3) Efer
(W) Tqfer () gRiR=i =
XV) Ure’ 3fq vres: BT forer?
(e TgRfcrT (@) gfeers
(|) SNfeit (®) gR=Igds =

(l)erse 3TTcd a1 WAT........oo |

(i) FTTETM e |

(V) R— HEEBH UATG M |

(V) ufduems,................ |

(Vi) HErE... ... 3 SIY—UgY: Hald |

(\Y/1) B—— grfcrafaanTes: |

3. JMfdeTgTRITABITAL: —

(i) “ g oAl I F AU MY @ I Hald ?
(i) gh—gi: ST B o BT YA AfI?

(i) fep—fevr g faemEman: yad &+ gIul Hafd ?
(iv) “agforel’ scad TIrAfdEES gF fhq?

(

V) SIS SRy Piseh?
i ] ]



(vii) "eHfor fgeirar” sfa g@or fgdiar o= wafd ?

(viii) T sfy o formfaume = faa?

(iX SrET gaTHISHI: S BT fawmfad: &1 gIur 7 wafa ?
(X) =g 3for s Wmﬁw?

4. ‘Fad: WWWEF% gf%l?ﬁam@w |
5. g Sfd ®©U AEAd |

6. "I A 0 G @rREmIan |

7

8

_ e A

. e 3 TN AR |
. 3fafaHl fawfaa ... 3fd Teageerer = 3 ufsad Wy |
9. gl AYHBMT Tl a1 gaded: gid difded ARG |
10. "dfgageraaiodfda:” sfa 3 ArAIHq |
11. 31d: fhH' AT HINRTDT SIATHRT FHEE Hod |
12, FITHART 5P AR Ry SR Tea: ﬁaﬂﬁrmﬁu
13. 3fifeaer g A=T? fade Hod |
14, "[UTR" TIF DA LA E7 forss wafa ?
15. "I1%" ST B AU b forssr wafa ?
U
16. AFAfARIAY HAMA g4 ﬁ{f?g’ feeram —
(@) v (@) gaH (‘T) SCESIINGINGIE|
17. SRRy PAEE gan fafe: orET —
(®) Trar (@) Ao () IFgr (&) %

18 3renferRaay El?ﬂﬂ@?i ARTITH— 3
) JfgT—ersy (@) sraf< () aa—cﬁ(’er)wﬂw%

19 aﬁﬂﬁvﬂ@ﬁg liRiﬂTIE'J eI —

(@) St (@) T A (1) AR ST (@) ST e

N N DNDNDNDNDNDDNDMNDNDDNMNDNDDN

U

20. For=feIRaay wiferg g 9an |- X2 =4
(@) wem: (@) e (1) i @) o/

21. JNIRIAY TN AT aH— %2 =4
(@) fergept (@) acar (1) M (8) el

22. FNfIRIAY YATgd AEIH — X2 =4

()ermadisgard udfd (&) o SR (31) SITa: el HOT:
() fEHaar 97 w9afd |



Y-S T

el — IR<SuTER:

fawg: — SANCY—2MR= (90)
g — 3 gue 15 e (AUE BR1=IH) quTiehT: — 56
1. SEIEM AR —
3. | IETIH SEINE RINKIGE
1. | =9 15Y% 27.68
2. | IR 11 19.65
3. | STIEnT: / sifeafa: 16Y% 29.46
4. | ®rEed /Hiferdar 13 23.21
U 56 100
2. YT YHRTIRY FHAR: —
®. | U YR | ITAET | GIAYTTHDL: | Belldl: | FbT | YA Yfaras | Fearae:
G AT gfererdaq Y
1. | axgis: 1/16 Yo 8 14.28 31.37 32fa:
2 | Raweer™ 1/10 Yo 5 08.93 19.60 20f#r:
3 | e | 1/8 1 8 |14.28| 1569 |24 fwmw
4 | TTRTHD: 12/ 1% 18 32.14 23.60 36 f:
12
5 | QIEN: 3/3 03 9 16.07 05.89 43 AT
6 | e 2/2 04 8 | 1428 07.85 |40 fwm:
- 20/ 56 100 100 1959w
51

XSS [ERRES JPYR: | gfderdq
L. | SIoHTorTH 20 35.71
2. | ggd fR=rafon 20 35.71
3. | THYF—YE Y 16 28.58

56 100




Dell —  aRSEAR: faya—  SgIfdy—emey — 56
SRR T i ST /St e/ e e
faeT: / Sufae:
ST NN A R R
Tt 10 1% |10 | 3@ |3 10 % |1 | 1% T (% | 1] 1% v % |10 | 1% 20 (7)
() (1) () 1Y@ Ol 1Y@ () () 1)
ged RRTRE Y5 Y | 10) | 1% 10 | % 1% |3 m 1 [ 1% T % 10| 1% 20(7)
() 1@ 1) () 1) 1@ () 0@ SANORN0) 1)
ST | Y, | Yo | 1) | 1% % | Y% v | % 1% [ Lo m 1% | 166
() 1) 1) () 1) ()1 () 1) () 1)
20 [ 1% (30 | 6@ 300 | | 2% | 1% |1 |3(2) | 3 201100 [ 2 [ 4% | 30 |4 (16| 1 |20 | 43 41) | 56(20)
i ) Ololo o el (wlolol |@
TAT: 15%(8) 11(3) 16%(5) 13(4) 56(20)

feea—AerT — 16 @ 20 Ty U@ AdRefaded: 1R |

T~ DIBDHIG dfe: HEAT JHANMIDT FARDEET T YD |




No. of Questions-20

No. of printed Pages —

BT — IR

favg:— SafawemesH, are—VU90
TRG I TIURIEAT—2024
HHY: — 3:15BRE: oIt 56
e A —

(1) TR U TUTTIAR e SfEaRa o |
(2) |d e Sifvarat: |

(3) A%l YAMTIRITT SRYRASTIMG ol |

(4) Vo YYARI HANT WUSTHIHRIOT Udhaa ol |

(5) Td TR HEBAARIAG WG |




Afed Y9 (STTRIET9=H)
e — IRSIUTT:
favg— ST, Hle—90

HHY: — 3:15BRE: qUIehT: 56
gue: — 91"
1. TRITOTT—
() EIT?J:QQ?H:?B?H%HTET@HW?
(31) efretrarcar () ST
SIPESICER] CSISERRE]
(@) RIFA U IRT Hafd —
(i) (@1) w7 (@)%10
(| % 9 (]) ®12
() TG W1 §9 W e AN vafa —
(3% 4 @) 5
(@)% 6 @) % 1
@) ¥ g9 g3 A0 e |-
(1) 12 ()13
(|) o6 () o8
(®) 9rSUBRI Had—
(a7 gep el (8) PRoNYDHROl
(B () SrgaIdel
(@) SudRfRd feehgwd-
(1) Rerageesn (@) W
(\) T () =
(B) ‘Tl B DI AT wad—
(31) AMIRecD (@) dReTCHcs
(¥) ReRaecs (@) ToT D et
@) “RRYEREY’ sF @R 3 SR —
(@) 3, 4 @) 5, 7
(@)10, 11 () 8.9
(31) O TR Hafi—
(37) g (@) SyAIf=:
(%) srgunf: (x) =
(31) AU gHARCRAT TRH T~
(a1) Hfer: (@) <.
() SmeTdrs: (@) wgfte:

ARENEARNEEENNIEI] §T\’ Tafa—

Yo

Yo

Yo

Yo

Ya

Ya

Yo

Yo

Yo

Yo



(&) uf¥=gHrq () <ferma
(3) Tl Ml Bl Hafa—
(31) 2100 (@) 2400
(9) 800 () 1800
(S) THRHAT AqHIL Haf~d—
(@1) 3 : 20 (@) 2 : 30
(&) 1 : 50 (]) 4 : 25
(@) BUST YUBRHTET: Afi—
@) 1, 4,7, 10 @) 3,6 9, 12
(@) 2, 5, 8, 11 (&) 1,86 8 12
(o1) fawH <Teit 3IEr BRT Wafwi—
(31) ¥F= @ T==
(&) g ?) W
(@) FERIAWTECeT IRy Hafa—
@n) T8 (@) <
(@) B= @ ue
2. Recreermma qraa—

(i) CCRI RIS RI 1K) qq |

(ii) TRER AT ... 3 |

(iii) HIAR MR ... a9 |

(iv) THRT T RO 9= |

(v) o B AT ... R a1 Red s
(vi) ARG ATIANSD........ AFaAT AN |
(vii) ATy TRfAEl SRl ... NI ICNIRCIGRH

(viii) = qdfaRRr s F. IR qeT |

(ix) faforaR = Fet3 e PIOHT T |

(x) UBRAT 3T e Pedl: Hal |
3. AT RIHBIZAT—

(i) “geyite:? 3= fb Hafa?

(ii) " IR g8 JARHAH 3 Igas’ 3 b S e

(iii) "3 g FqEidieT forad |
(iv) V9 ' e et & wafa?

(v) ITAT YIRKAT BT Hafd?

(vi) MRAETh MY B = Fad?
(vii) o wfafdef wafa?

Yo

Yo

Yo

Yo

Yo

Ya
Ya
Ya
Ya
Yo
Yo
Yo
Yo
Yo
Yo



(viii)  UBRHAT gTaemer &fa 3fem vat ?

gus.—"q"
4. GHGAT—FIH AT DU R |
529 — (—6 T+8) ........... IRTH I |
6. I UIST: 16T + 36" + 81 HIolh: 49> + 69 + 9

TF ATl fdhH?
7. hecaal forad |
8. ReRepecHg forad |
9. UfSRTgaH ok |
10. FEHTN STATSHEAT AT |
11 BIHONIAR: ;|
12. EYIR HRTash forad |
13. BI TSIIOT?
14, TATT—FHRTAT: GRETIT YT |
15.  BermerATERdfear:?

e Iy T—
16. YIsT: I* * 55° +126%°
qoTdh: I* +53% + 7% IThel T |
Jrerar
T+ 6T+ 25T + 487 +64 I ARRI |
17. OGO AEwY gaTaagT g gad 9 b |l
Jrerar

gus—"q"

Jr 3 BT 5 A1 7
I3 BT 3 A1 AN WG P aafa?
18. AT AT ;|

34T
AT FAYGETAOT TG |
s — T
IBERC IR P
19. ATHRT AR Heelld quiHH |
34T
I TTdeaS Rl g3alldh quiHy: |
20. RTINS INIEMYGR: oG-I |

S C

1%
1Y%

1Y%
1%
1Y%
1Y%
1Y%
1Y%
1Y%
1%
1%
1%



I3 GAGT: 06 : 10 STHEHIA: UId: 09 : 40 STHeTs =25 /35 a-iers d Jaayg
26 /54 T3 SBIAYdD — FATT—HANTATAELT Hod |



UII—U3 I IS 2024

e — RS U
fawy — am faem (Hem f2em)
afr — 3 "o 15 fiFe quTies — 80
1, IR BY HPIR —
B SEEta JPAR gfererd
1. | 3= 19 33.93
2. | 3@da™ 23 41.07
3. | SFIYANT / SffHetad 9.5 16.96
4. | P /HAifeTddT 4.5 8.04
AT 56 100.00
2, Ul & JHRAR ABHAR —
. Yl Pl bR Y Bl | 3D ®ol 3fp | Uferd | ufdwd | |wifdd
4. AR (sfpr 1) | (5ot ) RSkiR)
ESES 16 v 8 14.29 31.37 15
2. | Rad 10 Y 5 8.92 19.61 15
3. | srfdrergaRieT® 8 1 8 14.29 15.69 35
4. | oIS 12 1 18 32.14 23.53 60
5. | e 3 3 9 16.07 5.88 30
6. | FMdeTcHD 2 4 8 14.29 3.92 40
AT 51 56 100.00 100.00 | 195 e
fdheq AT @ Wos ' U ‘T H ©
3. fawg avg &1 FPIR —
st [ERRIEES! PR | ufcrerd
1. | searg—1 ReR dgfae! 1.5 2.67
2. | 3AR—2 ReR g 15 2.67
3. | AI—3 UGk Ud SemiA 1.5 2.67
4. | EATI—4 fOqawTdy 1.5 2.67
5. | SAI—5 fdegd graeIg IR 3 5.36
6 | 3EII—6 WA G 3 5.36
7. | A7 TATHS Ol 1 1.79
8. | arATI—8 IS 1 1.79
9. |Er—9 USrdl % DY Ul 3 5.35
10. | IIEATT—10 AGATAD 1 1.79
11. | sEma—11 faeadry 1 1.79
12. | EARI—12 AGD TG 3 5.35
13. | IEATT—13 RIS AT AATh AT 4 7.14
14. | 3RIRI—14 G1g Td GTHH 4 7.14
15. | IEATI—15 PIETH T 4 7.14
16. | 3EIRI—16 IgAD 4 7.14
17. | JIEATI—17 JATGAdISI UTGUl BT G bRl 1 1.79
18. | AEUTI—18 J& UIGYU el Pl aTUfde quid 1 1.79
19. | II—19 IMAR® ARTAI—oTS, T, U, 2 3.57
fécfra vd SRiTd dfe
20. | 3EgrE—20 3NWEY WEd P HI UIGUl Pl A fdaroT | 2 3.57




fawa g% &1 PR —

Bkl [EERICES PR | yfcrerd
21. | UT—21 UTeU IRR fohar fasm=—uem 1 1.79
22. | 3I™—22 UTGY IRR fehar fasmH—Tgaa 1 1.79
23. | JEUTI—23 i ST Pl GBI 2 3.57
24. | TT—24 YA I 1 1.79
25. | JEYTI—25 I O 1 1.79
26 | JEUTT—26 URHAROT G 1 1.79
27. | IEITI—27 IS A 1 1.79
28. | 3EUTI—28 3= : ATl UfRwT 1 1.79
29, | 3ATI—29 TP T 0.5 0.89
30. | JAT—30 A9 O 0.5 0.89
31. | ar—31 Sigell H fder &1 | ulRed 1 1.79
32. | JrEA@—32 SRl H e U9 fage 1 1.79

Bl 56 100




BT —IRS U

qe—u4 & U<

favg — 9= fasm

$E | ST 3P /ST FhR Eilk| RECIS] SFIART / STt Preret / Hiferdan IR
1 | - 1 ReRr agfae! 1) 1%(1)
2 JATI— 2 ReR iy 1%(1) 17(1)
3 JEATT— 3 URRIE U \ 1
- 1% (1) 175(1)
4 I~ 4 [qHaHIT 1%(1) 17(1)
5 SEATI— 4 19 graPr 1%4(1) 14(1) 3(2)
UROT
6 3EIRI— 6 TR
3%(1 3(1
Rygr= O M
7 AT~ 7 TATHD [hRol va(1) % (1) 12)
8 JI— 8 XfSAT QT 1(1) 1(1)
9 I~ 9 Ul &
14(1) 14(1) 3(2)
ﬂ‘%‘zﬁ g o
10 | 3= —10 SgATd % (1) (1) 1(2)
11 JAI— 11 fTeHRY Y (1) V(1) 1(2)
12 ;12:;— 12 IS 1) 2%(1) 3(1)
13 | oRum— 13 YNIRIN® ORI 1
T ST AR 17(1) 1%(1) 43)
14 |- 14 91 X 24() 2%(1) | 4(1)
NI~ 15 PBIETh ) ) \ .
15| (1) | % (1) 1%(1) 1%4(1) 4(4)
16 JAT— 16 dgdd 2%(1) 2%(-) 4(1)




I — 17 SIS

17 > o i %) | Y%(1) 12)

1g | Tond— 18 T Ml ic' (1) | V(1) 12)
Bl DI dTlah o
I — 19 IMAR®

19 RECEIRSSG RIS Y5(1) 1(1) Y (1) 2(3)
gD Td T gl
JIYR™T— 20 3N

20 | 9E<d ® = URUl Bl 1(1) 1(1) 22)
A= fagRor
JIT— 21 UIGU INR

21 P B . %(l) | Y%(1) 1)
I — 22 UIEY INR

22 BT fre i Ya(1) | Ys(1) 12)

23 ;{w'qﬁ_ 23 it o (1) 1(1) % (1) 2(3)

24 JYT— 24 U dA 1*%(-)

25 JY— 25 ITFA I 1%(1) 31)
AT — 26 IRTTRIT

26 o 1%(1)

27 I — 27 IS dF 1(1) 1(1)

28 %_ 28 ot 1(1) 1(1)

29 LTI — 29 AfFBT a3 | %(1) Ya(1)

30 YT — 30 S A Va(1) (1)
IR — 31 STl 1 )

31 [de &1 A aRkad 7D 7 1@
YT — 32 3 |

32 Py o ﬁa'_@ (1) | (1) 12)
. 36) | 36) | 55| 302 | 51 4%9) | 1%3) | 33) | 96) | 3(1) | %) | 21) | %) 44(3) 4(-) 1%(1) | 1) | 2(1) | 56(51)
S~ 19(20) 23(23) 9Y4(5) 44(3)

famed &Y AT -— TUE F' TG T H UAPD H U INdRP [dbcd 8 Hlc— HISd b dI8x Pl Gl ‘Il &I gl 3ex &I =T ‘U & &idd ¢ |

xR




Hisdl U 9T URIE—2024
IS U UYRI&TT—2024 (heETT—12)
|y o (Gepa Riem) (@S —56)
|HI:— 3 90 15 fiFe quiieh — 56
GUS—3]
(SECTION-A)

1 RS

T f& T sgfiecda gel & w8 fAdwem &1 =99 o SR gRae #§ fofay |
Multiple choice questions
Write the correct answer to the given multiple choice question in the answer book

() TR & FARRAMGT BT FUTT Il o—
@1:4 (@2:3 @) 3:1(:@) 3:4

Ratio of isotopes in chlorine is-
(A) 1:4 B)2:3 (©)3:1 (D)3:4

(i) ol 9U8 U ST B—
@) R v o & oy (4) gad gelgg= B forg
(|) U selgs{ @ foy (2) 98d ¥ wHRH & forg

Energy band is found in-

(A) Only for one molecule (B) For free Electron

(C) For one electron (D) for many atoms
(i) ol AR fIedR &) SrIdHaH e Bl 2
(1) 50% (d) 40.6% (9) 812% (]) 100%

Maximum efficiency of full wave rectifier is-
(A) 50% (B)40.6% (C) 81.2% (D) 100%

(v) FRSH # ®iar faws g SuRerd z—
@) N @) o ) s (@) NI STHI
Which is the odd atom in pyridine.
(A) N (B)O (C)S (D) NandS both

V) B & aRvmeawy fAsfd 8T 28—
(&) o (@) gorery (w) oy (=) drer
Triple fusion results in formation of-
(A) Embryo  (B) Endosperm (C) Embryosac (D) Seed
(vi) DRI UHR & el U7 ST B— s
(31) FHpRfaCH o A (d) A=A FHf A
() wod ot # (<) AT gt #



Caryopsis fruit is found in-
(A) Cucurbitaceae family  (B) Solanaceae family

(C) Poaceae family (D) Malvaceae family

(vii) Egad, FEUIRED, da oI 37 Jffeared Hagd Yol Ul Il &—
(@) Te dromuE o H @) fgdora= a= |
(@) wefguias u<it (@) fEdora= 7 |

Conjoint, Collateral, closed and endoprotoxylem vascular bundle is found in-

(A) In Monocot Stem (B) In Dicot stem
(C) Inisobilateral leaf (D) In Dicot root

i) 9 # I P geR @ T # Badt el e W € Y 9 O g
(31) USTERI Uil H (@) FHAfguTRas® o=l #

() U gorg u<i A (3) SWRIad a1
In which type of leaf stomata is found only on lower epidermis-

(A) In Dorsiventral leaf (B) In Isobilateral leaf

(C) In Unilateral leaf (D) All of the above

(iX) TDPTI HIATT BT JYBIRT AfHAT TH=1 Bl 28—
(&) o= (@) w2mm 3
(%) ArgSIPTRgar § (@) SWRYe afi

Dark reaction in photosynthesis takes place in-

(A) In Grenna (B) In Stroma
(C) In Mitochondria (D) All of the above
x) wed T H AT 5 BTG AIRTE HITAT 8—
(@) RIfgd et (@) ARSIt

(H) a-PEFCR® 3vdd  (]) Hfcrd ard

Compound containing five carbons made in the krebs cycle is-
(A) Citric acid (B) Succinic acid
(C) a-Ketoglutaric acid (D) Malic acid
(xi) VEBRE GRT S I HEAT 8—
(&) et CIRSIERIE
(@) gom () TRyl




The disease caused by Ascaris is called-

(A) Malaria (B) Swine Flu
(C) Cholera (D) Ascariasis

(xii) IR TS Sg A o

(a) TpTEATSHa (@) gHidrSer
(%) dRIBRT (=) sreitareT
The larget animal phylum is-
(A) Echinodermata (B) Hemichordata
(C) Porifera (D) Arthropoda
(xiii) AT # T SIS HuTel Af3BIY uTg St 83—
@) 12 @) 14
(|) 20 (1) 9

How many pairs of cranial nerves are found in humans-

(A) 12 (B) 14
(C) 20 (D) 9
(xiv)  TRrgr I ST <1 dTet UIORIT T Hed o—
(&) Rrg gore (8) smsuorD
(%) USSR (@) STH & P 2l
Animals which give birth to young ones are called-
(A) Viviparous (B) Oviparous
(C) Ovoviviparous (D) None of the above

(xv) @i H 3vS B B—
(@) gadidet (@) FHUIdD!
() DU (8) gesdican!
Eggs of insects are —

(A) Telolecithal (B) Isolecithal
(C) Centrolecithal (D) Microlecithal

(xvi) I & 3fvsi H b YbR &1 fadges sl —
(31) 3rEHE YuiHslT (@) gl LSl
() FA goiHslT (3) SuRIFd T



Which type of cleavage is found in mammanlian’s eggs-

(A) Unequal Holoblastic (B) Superficial Meroblastic
(C) Equal Holoblastic (D) All of the above
2 Rea Wil &1 gfd SR gRee § Pifve—
Fill in the blanks in answer book for following questions:-

() TS fHROT AT B o M & &1 BIh 7 | s
Positive rays are made of ............... ions in gases.

(ii) eTgell # faega ATaThdr BT BROL........ Selaeid B & | Y2
......... Electrons are the cause of electrical conductivity in metals.

(iii) egoRYT faedRI &1 IFTHT Toliep......... BIaT 2 | 2
Ripple factor of half wave rectifier is ..............

(iv) oI 2o & HARTa Fedl | IUHR..... BT R BT ¢ | 2
The difference in molecular weight between successive members of Homologous series
1S iieiiiiiine

(v) IRITHON & IRETHIY F affdrr @6 ugas o ufhar ... PHEl B | s
The process of transporting pollen grains from the anther to the stigma is called....

(vi) AT gorge fed FEURBIU ... HEAT B | Y2
Bracts without hairy flower stalk is called..........

(Vi) TTEUT H o SRT AfIPTH IS BT 2 | s
In plants maximum transpiration occurs through.........

(viii) 3FaTg TaET BT TGFT UMD .o BIAT T | s

Respiratory Quotient of anaerobic respiration is....

(ix) gepTo] # YA BT i FINIC IS b7
Acrosome in sperm is formed by................

(x) fage™ @ werawy AT SIRM@HRT B ... Fed | 2

The cells formed as a result of cleavage are called.........

3. 3Ifcl TTHRIHS U

Very Short answer type questions.

() o= S # Hagd gall @ e fea 8kt 872 1

What is the number of vascular bundles in a dicot root?

(i) B9 UTeT @ B 9N | UK Bl Sl 87 1

Quinine is obtained from which part of the plant?

(iii) e Prforg— 1
(A) TR (i) BRAGAT AT

(B) 3THIH (i) BT JTATHIS TSI

(C) BT (iii) ST AUeTg I

(D) BRT (iv) UOTaR ATHATHRA

Match the following-
(A) Sarpagandha (i) Curcuma longa



(B) Opium (i1) Ferula Asafoetida
(C) Turmeric (ii1) Rauwalfia Serpentina
(D) Hing (iv) Papaver Somniferum
(iv) uferdl ® R ST aTel eafs I3 1 AW oy | 1

Write the name of the sound instrument found in the birds?

(v) TR UHTT | 1T T AT 27 1
What do you understand by common ion effect?

(vi) org oMy fvd wedt B2 1
What is half life?
(vii) 7= o1 BT b @1 a7 aTel U9 gEEE & A faRag | 1
Write the names of the main hormones that control the process of urine formation.

(viii) T BTHIA &1 HH F AgHS I B ST &7 1

Deficiency of which hormone causes diabetes?
(@rs—9)
SECTION-B
THRTHD U3

Short answer type questions.

4. TaEga feya el &1 uR™Iia ST | 1%
Define electric dipole moment.

5. DY g1 WY JAIH § Uh—gaR Bl Fi el Predl 87 1%
Why do magnetic lines of force not intersect each other?

6 AR HH H s U a9 GuRAT & foy e enkar &1 /9 forRay | 1%
Write the value of equivalent capacitance for three capacitors connected in parallel

7 3FCR @ IATHT H 3T AT TSRS 57 1%

What do you understand by calibration of ammeter?

8. WA & ST FeR[ A ATUHI FIT AU &7 1%

What do yoy mean by power transmission?

9. gfaare ug yfaerd d R fIlRav | 1%

Write the difference between impedance and reactance.

10. FHIDII YRITYAT Ud fagfareiiera § A& S HIforg | 1%
Find the relation between magnetic permeability and electric permittivity.

11 FEDI &F § FIBR & MR W U1 B fba 911 H afiepd fhar 1ar 8?7 W
BIFSTY | 1%

In how many parts has the substance been classified on the basis of its behaviour in
magnetic field ? Explain it.

12. TOMAS faRelyor § T 9 & fIgewor | yd HNo; T femd 87 1%

Why is HNO3 found before analysis of third group in qualitative analysis?

13, IHAYIT Td IThH0I AfAfhamall # R foaRay | 1%
Write the difference between reversible and irreversible reactions.
14. Ry AHTGITAT BT Th ISIERUT §RT W HIFY | 1%

Explain position isomerism with an example.



15, feforRaa AMdT & 1. U. P. A. C. 9 foIlRgu | 1%
(3)CH,-CH,-CH-C=N (3)CH,-CH, —CH —CHO
CH, CH,
CH,

(W) CH,-CH-CH,—-COOH

Write the 1. U. P. A. C names of the following compounds-
(4)CH,-CH,-CH—-C=N (B)CH,-CH,—-CH -CHO

CH, CH,

CH,

(C) CH,-CH-CH,-COOH

(Tvs—a)
SECTION-C

CICCRND RS

Long answer type questions:-
16. f741 &I FASTST

@) n+e e

(§) 9= F@IUcH Gl

() Of. Ol AHAET BT URAY] Hied

1+1+1=3

arerar
(31) gue @1 7w

() FrIDpIa FdUeH HEl

() Sfee &1 gAY g

Explain the following
(a) n+4£Rule
(b) Principal quantum number

(c) J.J. Thomson's atomic model.
OR

(a) Hund's law
(b) Magnetic quantum number

(c) Dalton's atomic theory.
17. (@1) IaE 3y B URHINT BT | 1+1+1=3
(d) sp° HHROT BT SETERTT GRI FHENSY |
() e e STa § faeia i 8 87




YT
(37) URHATY] FeEThl & IffrATId DI AR HIFTT |
(8) sp” HeHROT BT SETERVT gRI THSASY |
(¥) UthTge FEwdAId Bl gU Yl fderg &1 gardes ol Bidr &7

(a) Define chemical bond.
(b) Explain sp3 hybridisation with example.
(c) Why are ionic compounds soluble in water?

OR
(a) Define the overlapping of atomic orbitals.

(b) Explain sp2 hybridisation with example.
(c)Why is graphite a good conductor of electricity despite being covalent?

18. (31) HaferY S &1 B Yo IaTexvT forlRay | 1+1+1=3
() AT B 3T AT BT o a8 |

(W) ol URRIERYT G I SETERVT Aid IRATIT BT |

arerar
(31) AR Sfia &7 BIg Ydh SQIeRvl foIlRay |

@) 79 & F:zgad &1 fom 9918y |
() 9% UREAROT TF Bl IQTERVT Algd URHINT BT |

(a) Give any one example of omnivorous animals.
(b)Draw the human inhalation process.
(c) Define open circulatory system with example.

OR

(a) Give any one example of carnivorous animals.
(b) Draw the human exhalation process.
(c) Define closed circulatory system with example.

Section-D
(@vs—3)
IRECIG GRS
Essay Type Questions:-

19.  (31) APl B WGV D FHEDII YT A Bl ford gRT GHSISY | 2+2=4
@) foaToe deIm 9oie # o= forlRau |
aferar

(31) 3TIDT @& G HI ST ol fAfy &I o gRT F=msy |
(@) getal dig ar fucdl oig # o forfRay |

(a) Explain the magnetic separation method of concentrating ores with a diagram.
(b) Write the difference between calcinations and roasting.

OR

(a) Explain the froth floatation method of concentrating ores with a diagram.
(b) Write the difference between cast iron and wrought iron.



20. (31) FrAfoIRad agted! & ey, T[0T g IUINT feTRay— 2+2=4

(i) dfeftrd=
(i) TgAT—6
(@) AT IgAD T HeTd IgaAd | R fIRay |
aferar
(o1) Fr=ifoRae agael & Heaiwor, or 9 ITART foaRan—
(i) UfeTReTSRA
(i) gl =—6, 6

(§) AUgeE 9gAP T TUGHCT dgaid H <R foffey |
(a) Write the synthesis, properties and uses of the following polymers
(1) Polypropene
(i1) Nylone-6
(b) Write the difference between thermosetting polymer and thermoplastic polymer.
OR
(a) Write the synthesis, properties and uses of the following:-
(1) Polystyrene
(i1)) Nylone-6,6
(b) Write the difference between thermosetting polymer and thermoplastic polymer.
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